et EXO0

4. EdhmPEEEGEREE/NE2EZHREHEIRE--BH: P1 (KRIEE.P1->P1)

;’NA21-01-$§J§: P1, #EAER: W12, LB Fo%: 27 [X7:+153,Y13:+193] , #& & (25.0)=25.00 cm, #&5:395.0 cm , &
2:-80cm

#3 EEH(E1H) EERE(EX)ESIE B8 SR]395+ [ +EE50]15+[90 & 8.47
_J $4]13.7= 423.71

K 8= (Int((25-5-5)/12)+1)/100= 2
FEGER(E140)= 423.71* 32 #]2/100= 8.47 M

#3 KEFH(FE14H) JKFERE(BEX)= 25+ Int(25/(8*100))*36+[#E i #4-Ld]0* 18.15
E— [ E1]2*30+[58 B AT 541 20-Ld]30*1= 55.00

X 8= 33/100= 33 X

JK G R (% 140)= 55.00[% 24]33/100= 18.15 M

BEhRETE:
RE:1
INER 13 B #5=(L)25.00%(H)395*2/10000=1.98 M2
A EHE F EARAR/NET: 1.98 M2
FHAIFE/NET:12*395%1/10000=0.47 M2
*ﬁ’ﬂgﬁ;‘l‘: 2.45-[M%#0]0.00-[ B M 5 A $0]0.00+[F9 % £112]0.00+[ B Ha B A £14%]0.00-[{81 1 32 #411]0.00=2.45 M2
RCET&:
RE&:1
INER 13 B H5=(L)25.00%(H)395%(t)12/1000000=0.119 M3
Ll EfEFEERC/MET: 0.119 M3
RC/|MEt: 0.119-[F1ZBIARC]0.000-[E FEBIARC]0.000= 0.119 M3
-------------- HHEHE RN
SRAR/NET(IKBE O LE B0 RR#): (#ERA O Lk451:0.0000)
#3=26.62 M*(1-0.0000)=26.62 M (26.62 M*0.560/1000= 0.0149 T)
AR/NEH(EERM)=0.0149T
BAR/INET ()= 2.45 M2
EEEL /AT =0.119 M3

PNA21-01-t&/8: P1, #&{CER: W15B, L& F55E: 22 [X6:-209,Y14:+133] , #&&K: (157.5+230.0+195.0+222.5)=805.00
cm, $£5:360.0 cm

#4 [— HEEH(F14) HE R E(FEX)[—MHE-THE]360+[IRE #E]37=397.00 214.38

X #= (Int((805-5-5)/15)+1)/100= 54
T E R (E 140)= 397.00* [ £4]54/100= 214.38 M

#4 KERH(E14E) KT B (B 3)= 805+ H2]Int(805/(8*100))*48+[# 1 #-Ld] 241.29
— 3*[A2*37+[FE B AT ST 8-Ld]372= 1,149.00

X = [Int((360-5-5-[ T 1 E2RE]36.00)/15)+1)/1100= 21 X
KFER R (E148)= 1,149.00 [ £0]21/100= 241.29 M

#4 BEHEH(E24) BERE(EX)[—HRIE-TEE]360+[TE#F]37=397.00 214.38
[_ X 8= Int((805-5-5)/15)+1)/100= 54
T E 8 R (F240)= 397.00* [ £4]54/100= 214.38 M

#4 IKTERR(F248) KT B (B 3)= 805+ H2]Int(805/(8*100))*48+[# 1 8-Ld] 241.29
———— 3*[RAMA]2*37 +[BE B AT IS 1 B-Ld]37*2= 1,149.00

X #i= [Int((360-5-5-[<F H#2KRE]36.00)/15)+1]/100= 21 X
KM E($E248)= 1,149.00*[3 £]21/100= 241.29 M

#5 ARRtEAR:
LEEARE: (S =]360* & H781]*3*[32]*4/100= 43.20 M
#5 TERS:
7K HEE: Int(805.00/60)= 13
FHEHEE: Int(360.00/60)= 6
THEREE:((15-3*2)+10*2) K T HE &1 3 [EE HEEk]6= 22.62 M
EhRETE:
RE&A
N INER 1:RRIE :(B2:50cm)=(L)157.50%(H)(360-50)*2/10000=9.76 M2
&2
INER BRI (B2:50cm)=(L)7.50%(H)(360-50)*2/10000=0.46 M2
X INER2:FRJEE:(S0)=(L)222.50*(H)(360-16)*2/10000=15.31 M2
E%:3
INER 1:HRJEE:(S0)=(L)187.50*(H)(360-16)*2/10000=12.90 M2
X INER2: BRI (G 1:60cm)=(L)7.50%(H)(360-60)*2/10000=0.45 M2
4
INER 1:RRIE (G 1:60cm)=(L)222.50%(H)(360-60)*2/10000=13.35 M2
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LI EfEF ZRRR/NET: 52.24 M2
Ecﬁglg: 52.24-[P9E540]0.00-[ & £3 B 11 41]0.00+[F9 B8 £4&]0.00+[ B Ea B 0 £14£]0.00-[ I & 32 $#40]0.00=52.24 M2
RCET&E:
N
% INER 1 RRIE(B2)=(L)157.50*(H):(360-50)*(t)15/1000000=0.732 M3
E%:2
INER 1 BRIE:(B2)=(L)7.50*(H):(360-50)*(t)15/1000000=0.035 M3
% INER2:HRJEE:(S0)=(L)222.50*(H):(360-16)*(t)15/1000000=1.148 M3
E%:3
INER 1 RRJEE:(S0)=(L)187.50*(H):(360-16)*(t)15/1000000=0.967 M3
% INER2:BRIE (G 1)=(L)7.50*(H):(360-60)*(t)15/1000000=0.034 M3
%4
INER 1 RRIE (G 1)=(L)222.50%(H):(360-60)*(t)15/1000000=1.001 M3
L E#EFERC/MET: 3.918 M3
RC/INet: 3.918-[F9% B O RC]0.000-[ & Fa B A RC]0.000= 3.918 M3
-------------- HECETE JA
S /NG (K BA O Ee B0 RR %) (#8BF O EL451:0.0000)
#4=911.34 M*(1-0.0000)=911.34 M (911.34 M*0.994/1000= 0.9059 T)
#5=22.62 M*(1-0.0000)=22.62 M (22.62 M*1.560/1000= 0.0353 T)
B O B2 A PR AR AR AR AR 50 /NET (A B D S b0 BRFA O e 451 ):
#5=43.20 M (43.20%1.560/1000= 0.0674 T)
SR/ NEH(EE A +EEAT) = 1.0086 T
R/ ()= 52.24 M2
BEL/NE =3.918 M3

PNA21-01-#/8: P1, $&K88: W15, fiE 5 21 [X7:+192,Y13:+213] , #&&: (335.0)=335.00 cm, §&3:360.0 cm
#4 [— EE(FE14) B £ (8 X)[— MI8-TEE1360+ A ES#5E]37=397.00 87.34

X #= (Int((335-5-5)/15)+1)/100= 22
T E R (E148)= 397.00*[% #4]22/100= 87.34 M

#4 KR (E148) KERE(BX)= 335+[141]Int(335/(8*100))*48+[# 7 #4-Ld] 85.89
_— O*[AAI]2*37 +[ 58 R #7E  # #-L d]37*2= 409.00

X #0= [Int((360-5-5-[F 1 #2KRE]50.00)/15)+1)/100= 21 X
KEHHE(FE140)= 409.00*[Z £]21/100= 85.89 M

X = Int((335-5-5)/15)+1)/100= 22

#4 [— BEHEH(E24) BEERE(EX)[—HRIE-TEE]360+[THE#F]37=397.00 87.34
FE R (E240)= 397.00*[% £4]22/100= 87.34 M

#4 KR (5E248) KERE(BX)= 335+[141]Int(335/(8*100))*48+[# 1 84-Ld] 85.89
_— O*[AAI]2*37 +[ 58 R #4724 #-L d]37*2= 409.00

X #0= [Int((360-5-5-[ Tt #2KRE]50.00)/15)+1)/100= 21 X
KEHHE (F240)= 409.00*[3Z #]21/100= 85.89 M

#5 B O fH5a A
1-#5 B5: W18 [I:84834]((65+100*2)+(260+100%2))*2*[{2]2*[%]1/100= 29.00 M
#5 B5: W18 [ FB#58]100* (U £ ]4*[32]2*[3%]1/100= 8.00 M
#5 LA _E/NET[IUi24H58]= 29.00 M
#5 LL_E/NEH A BE#HE]= 8.00 M
#5 T1ERA:
JKFEHEEL: Int(335.00/60)= 5
FHEHEEL: Int(360.00/60)= 6
TEMEE:((15-3*2)+10*2)* /K FHE &5 [ EE HEE]6= 8.70 M
HEBE O LRI E &
P25 B O E@ #&:(W18)65*260=1.69 m2
T He A (SR AR BE R HE):12.06 m2
B O Eb451:1.69/12.06=0.1401
EhREHE:
KREZ:A
INER1:RRIE (B 1:50cm)=(L)334.99%(H)(360-50)*2/10000=20.77 M2
LU b EERR/NET: 20.77 M2
P95 FA O A= RO
1. B (W18):65*260*2[{81]/10000=3.38
$14:(65+260)*2*15/10000=0.98
FIES B QAR RRIORR/NET: 3.38 M2
PIES B O 4R EI46 /N ET: 0.98 M2
#ﬁﬁ}gﬁ;ﬁ 20.77-[P9E540]3.38-[ & B3 B O $0]0.00+[ P98 £14%]0.98+[ B B 5 A £44%]0.00-[ {81 7 3 #41]0.00=18.36 M2
RCEH&E:
REE:A
INER 1 RRIE (B 1)=(L)334.99*(H):(360-50)*(t)15/1000000=1.558 M3
LI k& E ERC/MVET: 1.558 M3
F9E5 R O RCHIR:
1.%5(W18):65*260*15/1000000=0.254
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FIE BRI ORCHIBR/NET: 0.254 M3
RC/l\u‘I' 1.558-[F& B O RC]0.254-[ B M1 ARC]0.000= 1.304 M3

fﬂﬂn/l\nﬂﬂ‘iﬁﬁﬂJ:H’i"]?l]llfﬂﬁ) (¥&BA O LL151:0.1401)
#4=346.46 M*(1-0.1401)=297.91 M (297.91 M*0.994/1000= 0.2961 T)
#5=8.70 M*(1-0.1401)=7.48 M (7.48 M*1.560/1000= 0.0117 T)
*BA O B A PR A SR AR ER 42 /N E T - (R EB 0 A $0BRBA O LL A1)
#5=37.00 M (37.00*1.560/1000= 0.0577 T)
M /NEH(EERH+HEA) = 0.3655 T
BAR/NET(E)= 18.36 M2
R /NET = 1.304 M3

PNA21-01-#/8: P1, $&L88: W15, R 5% 16 [X6:-93,Y14:-115] , #&&: (250.0)=250.00 cm, §&3:360.0 cm
#4 [— EE(FE14) B £ (E X)[—MI8-TEME]360+ A E4#5E]37=397.00 67.49

X #= (Int((250-5-5)/15)+1)/100= 17
FEEFER(E14H)= 397.00* [ #]17/100= 67.49 M

M AN E AN ET S = (Int((250)/15)+1)/100= 17
T T S AR AR (AR NS A 42 ) T e N BB N ET AR R (BB 14H)=
([FE4dLdhxt]15+[ & £590]18.3)*17/100= 5.66 M

#4 _J JEBRAE R 4 I AN ET AN R ED AT A (B AV I RIR £ 2 R E= 250.0 cm 5.66

#4 IKEAR(E148) IKFEE (B )= 250+ [51]Int(250/(8*100))*48+[E 47 #1-Ld] 64.80
- O*[MmI]2*37+[BE E BT E 15+ 28-Ld]37*2= 324.00

K = [Int((360-5-5-[F 142 AR:%160.00)/15)+1)/100= 20 X
KA R (F148)= 324.00*[ 3 £]20/100= 64.80 M

#4 r EEH(E24) B RE(EX)[—RIE-TEE360+[JE & E]37=397.00 67.49

X #= Int((250-5-5)/15)+1)/100= 17
FE AR (F248)= 397.00 % #]17/100= 67.49 M

HE {0 & S AN ET S 2= (Int((250)/15)+1)/100= 17
T T AR AR (AR NS B0 42 ) T e N2 BB N BT AR R (BB 24H)=
([EEfERLdhxt]15+[#£4790]18.3)*17/100= 5.66 M

#4 _J (EBREE R4 I AN ET) AN R ED AT A (B AV I RAR £ 2 R E= 250.0 cm 5.66

#4 KA (E248) IKFEE (B )= 250+ [51]Int(250/(8*100))*48+[E 47 #1-Ld] 64.80
- O*[MmI]2*37+[BE E i & 15+ 28-Ld]37*2= 324.00

K 8= [Int((360-5-5-[F 1142 AR%]60.00)/15)+1)/100= 20 X
IK 548 (F248)= 324.00*[ 3 £(]20/100= 64.80 M

#5 B O fH55AR:
1-#5 F9: D9 [= 2 ##32](((210+100)*2)+(120+100*2))*[32]1/100= 9.40 M
#5 F9: D9 [ F&#H54]100* [ FA]2*[i2]2*[3%]1/100= 4.00 M
#5 LI E/NET[UB4HE]= 9.40 M
#5 Ll E/NET[ABBIEE]= 4.00 M
#5 TERA:
JKFEHEEL: Int(250.00/60)= 4
FEHE B8 Int(360.00/60)= 6
TERBE:((15-3*2)+10*2) K FEHEER4* [E E HE21]6= 6.96 M
YEEA O EL B EHE:
F9%5 B O @ #&:(D9)120*210=2.52 m2
WS mE AR (SR AR HEAREFE):9.00 m2
B O L 51:2.52/9.00=0.2800
EhRETE:
RE&:1
INER 1 BRIE (G 1:60cm)=(L)250.00%(H)(360-60)*2/10000=15.00 M2
LA B S F EERR/NET: 15.00 M2
P8 B OB AR 0B
1. F9(D9):120*210*2[{a1]/10000=5.04
$4%:(120+210*2)*15/10000=0.81
PAEE R O RRIOBR/NET: 5.04 M2
PEE R O £HE R #E/VET: 0.81 M2
#ﬁﬁﬁf;t 15.00-[F9&540]5.04-[ & BB O #1]0.00+[F4 25 £14510.81+[ & B2 B O $1#%]0.00-[{81 E 32 $#£41]0.00=10.77 M2
RCEE:
RE&:1
INER 1 RRIE (G 1)=(L)250.00*(H):(360-60)*(t)15/1000000=1.125 M3
LI b FERC/MET: 1.125 M3
F9E5 B ORCHIRE:
1.F9(D9):120*210*15/1000000=0.378
FAEE B ORCHIRR/NET: 0.378 M3
RC/INet: 1.125-[F25B O RC]0.378-[ B B O RC]0.000= 0.747 M3
-------------- HHEH RN
S /NG (KB O Ee B0 RR %) (#EBA O EL451:0.2800)
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#4=275.90 M*(1-0.2800)=198.65 M (198.65 M*0.994/1000= 0.1975 T)
#5=6.96 M*(1-0.2800)=5.01 M (5.01 M*1.560/1000= 0.0078 T)
“*BH O B A PR AR AR AR AR 5 /NET (A B D S b 0 BRRA O b 451 ):
#5=13.40 M (13.40*1.560/1000= 0.0209 T)

AR/ NEH(EE M +EEA) = 0.2262 T

RR/INETH(E)=10.77 M2

BELT/NE =0.747 M3

PNA21-01-#/8: P1, $&1K88: W15, LB 5 28 [X7:+17,Y14:-15] , #&&: (430.0)=430.00 cm, §&5:360.0 cm
#4 [— EEG(FE14) B B (8 X)[—MI8-TEME]360+ A E4#5E]37=397.00 115.13

X #= (Int((430-5-5)/15)+1)/100= 29
EEGEE(E14)= 397.00°[%£]29/100= 115.13 M

#4 JKEH(E14E) KR E (B X)= 430+[#54#]Int(430/(8*100))*48+[E 1 84-Ld] 100.80
— O*[FaMI]2*37+[ 38 B #T 4% #4-Ld]37*2= 504.00

X = [Int((360-5-5-[F 19#RKR%]60.00)/15)+1)/100= 20 X
KSR (E148)= 504.00* [ £]20/100= 100.80 M

X #= Int((430-5-5)/15)+1)/100= 29

#4 [— BEEH(E24) BEERE(EX)[—HRIE-TEE]360+[TEE#F]37=397.00 115.13
FE R (E240)= 397.00*[3X £1]29/100= 115.13 M

#4 IKTERR(F248) KT B (B 3)= 430+ 2] Int(430/(8*100))*48+[ 1 #-Ld] 100.80
—— O*[RAfA1])2*37+[38 B #iHE &+ $-Ld]37*2= 504.00

X #i= [Int((360-5-5-[<F ##2KRE]60.00)/15)+1]/100= 20 X
KT R (%248)= 504.00*[% £]20/100= 100.80 M

#5 RO fE55 AR
1-#5 F9: D9 [= 2 ##32](((210+100)*2)+(120+100*2))*[32]1/100= 9.40 M
#5 F9: D9 [ F&##54]100* [/ FA]2*[i2]2*[3%]1/100= 4.00 M
#5 LI E/NET[UB4HE]= 9.40 M
#5 Ll E/NET[ABRIEE]= 4.00 M
#5 T1Efh:
JKFEHEEL: Int(430.00/60)= 7
FEHE B Int(360.00/60)= 6
THEFHEE:((15-3*2)+10*2) K HEE 7 [E EHEE]6= 12.18 M
YEEA O LB E &
F9%5 B O @ #&:(D9)120*210=2.52 m2
IS mE AR HERmETE): 15.48 m2
RO L51:2.52/15.48=0.1628
EhRETE:
REE:A
INER 1 BRIE (G 1:60cm)=(L)430.00%(H)(360-60)*2/10000=25.80 M2
LA EE F EERR/NET: 25.80 M2
P8 B OB AR 0B
1. F9(D9):120*210*2[{21]/10000=5.04
$4%:(120+210*2)*15/10000=0.81
PIEE R O RRIOBR/NET: 5.04 M2
PIEE R O £HEE %/ 0.81 M2
*ﬁﬁﬁf;: 25.80-[F98540]5.04-[ B 1B 0 $1]0.00+[F9 %5 $14%]0.8 1+ B Fa B O 34510.00-[{8 & 32 $41]0.00=21.57 M2
RCEE:
KREZ:A
INER 1 RRIE (G 1)=(L)430.00%(H):(360-60)*(t)15/1000000=1.935 M3
LI ERC/MET: 1.935 M3
FA%5 B3 O RCHIBR:
1.F9(D9):120*210*15/1000000=0.378
FAE5 B ORCHIRR/NET: 0.378 M3
RC/I\et: 1.935-[F985B O RC]0.378-[ B Fa B O RC]0.000= 1.557 M3
-------------- E R K- 9] |\ R
S /NG (IKBA O Ee B0 RR TR ): (8RR O EL151:0.1628)
#4=431.86 M*(1-0.1628)=361.56 M (361.56 M*0.994/1000= 0.3594 T)
#5=12.18 M*(1-0.1628)=10.20 M (10.20 M*1.560/1000= 0.0159 T)
B8 O B A PR AH SR AR B0 43 /N at (AR ER 2 A HIBRBA O LR 451
#5=13.40 M (13.40*1.560/1000= 0.0209 T)
M /NEH(EERH+HEM) = 0.3962 T
BAR/NET(E )= 21.57 M2
SRt /NET = 1.557 M3

PNA21-01-#/8: P1, $&L88: W15, LI FF5R: 17 [X6:-93,Y15:+94] , ¥&&: (527.5)=527.50 cm, §&5:360.0 cm
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X H= (Int((527.5-5-5)/15)+1)/100= 35

#4 [— FEEH(E140) B E R (B X)) —ALiE-TEE]360+[TE B §#E]37=397.00
EEGEE(E148)= 397.00°[% #]35/100= 138.95 M

138.95

- Ld]O*[fila1]2*37+[EE B AT 54 #5-Ld]37*2= 601.50
X &= [Int((360-5-5-[F 1942 KR%]60.00)/15)+1)/100= 20 X
KEFHER(E140)= 601.50*[3 2£]20/100= 120.30 M

#4 IKFERH(E148) KERE(BEX)= 527.5+[#1]Int(527.5/(8*100))*48+[E 1 84

120.30

X H= Int((527.5-5-5)/15)+1)/100= 35

#4 [— FEHEE($E24) B E R E(EX)[—ALIE-TEE]360+[TEE§#E]37=397.00
EEGEE(E248)= 397.00° (% #]35/100= 138.95 M

138.95

- Ld]0*[filA]2*37+[EE B AT 543 #5-Ld]37*2= 601.50
X &= [Int((360-5-5-[F 142 HR%]60.00)/15)+1)/100= 20 X
KEFHER(E248)= 601.50*[3 £7]20/100= 120.30 M

#4 IKF R (EE248) KERE(BEX)= 527.5+[##]Int(527.5/(8*100))*48+[E 1 84

120.30

#5 B AsaRs:
1-#5 B5: W16 [IU384834]((70+100*2)+(180+100%2))*2*[{2]2*[%]1/100= 26.00 M
#5 B5: W16 [ FB#58]100* (U £ ]4*[:2]2*[3]1/100= 8.00 M
#5 Ll E/NET[U24#5E])= 26.00 M
#5 Ll E/NETABRIEE]= 8.00 M
#5 TYEfA:
JKFEHEEL: Int(527.50/60)= 8
FHEHEEL: Int(360.00/60)= 6
TEMEE ((15-3*2)+10*2) K FHEBRIS [ E HE8]6= 13.92 M
Y& BE O LRI 5 &
FeE5 B O E#&:(W16)70*180=1.26 m2
T AR TS (S A HE A #E):18.99 m2
BAH451:1.26/18.99=0.0664
EARETE:
N
INER 1 BRI :(G2:60cm)=(L)527.50%(H)(360-60)*2/10000=31.65 M2
LU F EERR/NET: 31.65 M2
P95 B O AR AR 0%
1. B (W16):70*180*2[{1)/10000=2.52
$1#:(70+180)*2*15/10000=0.75
PIE8 B O AR RRIORR/NET: 2.52 M2
FIEERA O &R [E 4/ 0.75 M2

¥AR/NET: 31.65-[F9E5$0]2.52-[ B FaFA O $0]0.00+[F9 55 £14%10.75+[ B H B O $14%]0.00-[{81 # 32 $#%$0]0.00=29.88 M2

RC:tH&E:
RE&:A
INER 1 BRI (G2)=(L)527.50*(H):(360-60)*(t)15/1000000=2.374 M3
LI E#EFERC/MNET: 2.374 M3
FA%5 B O RCHIRR:
1.%5(W16):70%180*15/1000000=0.189
FHE5 B ORCHIRR/MET: 0.189 M3
RC/&t: 2.374-[FE RO RC]0.189-[ & HE O RC]0.000= 2.185 M3
-------------- FHERE RN
AR /NET(REA O L FI0BR ) (&RA O LL151:0.0664)
#4=518.50 M*(1-0.0664)=484.10 M (484.10 M*0.994/1000= 0.4812 T)
#5=13.92 M*(1-0.0664)=13.00 M (13.00 M*1.560/1000= 0.0203 T)
B O B A PR AR AR ER 2 /N (A ER > S FOBRBA O EL31):
#5=34.00 M (34.00%1.560/1000= 0.0530 T)
A/ NEH(EE M +EEA) = 0.5545 T
BRR/NET ()= 29.88 M2
Estt/NEr =2.185 M3

PNA21-01-#28: P1, #&4C5%: W15, L& F5%: 29 [X7:+17,Y15:+55] , #&&: (530.0)=530.00 cm, &=

:360.0 cm

#4 EEEH(E14E) BEEREEX)—RIE-TERE]360+[EE#E]37=397.00
[_ X #= (Int((530-5-5)/15)+1)/100= 35
EEGEE(E14)= 397.00° X #]35/100= 138.95 M

138.95

#4 IKEHR(FE148) KR (B )= 530+[#1%]Int(530/(8*100))*48+[E 7 #1-Ld]
L O*[FA[A]]2*37+[FB i iE &4 22-Ld]37*2= 604.00

X k= [Int((360-5-5-[F 4Rk iE]60.00)/15)+1)/100= 20 X
KEFH R (S 140)= 604.00*[3 ££]20/100= 120.80 M

120.80

&

#4 TE(ZE24) BEREEX)—HRIE-TEE]360+[15fE H#E]37=397.00
[_ X #H= Int((530-5-5)/15)+1)/100= 35
FEEGEE(E248)= 397.00° X #]35/100= 138.95 M

138.95
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#4 K (5 248) JKTE R E(EX)= 530+[#51%]Int(530/(8*100))*48+ [ #4-Ld] 120.80
== O*[MM]2*37+[58 B friEiE 1 8-Ld]37*2= 604.00

X &= [Int((360-5-5-[F 4R %]60.00)/15)+1]/100= 20 X
JKFEffaR (F240)= 604.00*[% £]20/100= 120.80 M

#5 TIEm5:
JKFEHEEL: Int(530.00/60)= 8
THEHEE: Int(360.00/60)= 6
THEREE:((15-3*2)+10*2) K T HE &S [EE HEEL]6= 13.92 M
EhRETE:
KE&:A
INER 1 BRI :(G2:60cm)=(L)530.00%(H)(360-60)*2/10000=31.80 M2
LA EE F E4RAR/NET: 31.80 M2
EH&;};: 31.80-[F9E540]0.00-[ & Fa B O 40]0.00+[F9 %5 £4&10.00+[ B H B O £145£]0.00-[{81 & 3 $£40]0.00=31.80 M2
RC:EtH&E:
REx:A
INER 1 BRI :(G2)=(L)530.00*(H):(360-60)*(t)15/1000000=2.385 M3
LIk ZERC/MET: 2.385 M3
RC/M&t: 2.385-[F9%5 R O RC]0.000-[ & H1 B O RC]0.000= 2.385 M3
-------------- H R R 0] N
SRAR/INET(IRBE O LLBI0RR £ ): (5B O Ek451:0.0000)
#4=519.50 M*(1-0.0000)=519.50 M (519.50 M*0.994/1000= 0.5164 T)
#5=13.92 M*(1-0.0000)=13.92 M (13.92 M*1.560/1000= 0.0217 T)
M /NEHEER)=05381T
EAR/NET(E)= 31.80 M2
R /et = 2.385 M3

PNA21-01-1&8: P1, #E4C8%: W15S, SIBFE5%: 31 [X7:-15,Y16:-75] , #&&: (30.0+65.0+30.0)=125.00 cm, &
=:360.0 cm

#4 [— EEH(E14) H|E R E (B X)[—MiE-TEE1360+([15 & #E]37=397.00 31.76

X &= (Int((125-5-5)/15)+1)/100= 8
EEFER(E14H)= 397.00* [ %]8/100= 31.76 M

#4 IKFRH(E148) IKFERE(EX)= 125+[5H]Int(125/(8*100))*48+ [ Hr #k-Ld] 79.81
_— 2*[FAlm)|2*37+[EE B i iE 4 28-Ld]37*2= 347.00

X E= [Int((360-5-5-[F t9#EHRi%]16.00)/15)+1)/100= 23 X
KEFH R (S 140)= 347.00* [ £]23/100= 79.81 M

X #= Int((125-5-5)/15)+1)/100= 8

#4 [— EHEF(FE24) HERE(EX)[— IS THRE]360+[JA & E]37=397.00 31.76
EEFRER(SE24H)= 397.00* [ %4]8/100= 31.76 M

#4 JKE#R(5E248) KERE(EX)= 125+[#1]Int(125/(8*100))*48+[E Hr#k-Ld] 79.81
= 2*[fAA]]2*37+[EE R A5 iE 4 28-Ld]37+2= 347.00

X #= [Int((360-5-5-[F t9#EhRi%E]16.00)/15)+1]/100= 23 X
KEF AR (FE248)= 347.00* [ 2]23/100= 79.81 M

#5 A IAHE:
LB £ 8 (1 =]360 [ 47 #1]*2*[32]*4/100= 28.80 M
#5 T1EfA:
JKEHEEL: Int(125.00/60)= 2
FEEHEEL: Int(360.00/60)= 6
TEREE((15-3*2)+10*2) /K FHEER 2 [EE HEER 6= 3.48 M
BRETE:
KE&:1
INEZ AR (CS)=(L)30.00*(H)(360-16)*1/10000=1.03 M2
KE%:2
INEZ AR JE:(CS)=(L)65.00*(H)(360-16)*1/10000=2.24 M2
KE&:3
INEZ AR (CS)=(L)30.00*(H)(360-16)*1/10000=1.03 M2
LA EHE F EARAR/NET: 4.30 M2
*EHJ@J:J;# 4.30-[F%+010.00-[ 2 HEA O $0]0.00+[ P95 £148]0.00+[ B BB O £14€]0.00-[18 1 32 $%+0]0.00=4.30 M2
RC&&:
KE&:1
% INEZ 1 RRE:(CS)=(L)30.00*(H):(360-16)*(t)15/1000000=0.155 M3
%2
*E INEZ AR (CS)=(L)65.00*(H):(360-16)*(t)15/1000000=0.335 M3
%3
INEZ AR (CS)=(L)30.00*(H):(360-16)*(t)15/1000000=0.155 M3
Ll E#EFERC/MET: 0.645 M3
RC/I&t: 0.645-[F9% B ORC]0.000-[B B A RC]0.000= 0.645 M3
-------------- SHEFERN-—ee-
SRAR/NET (KB O L B0 BRR): (H%BH O LL451:0.0000)
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#4=223.14 M*(1-0.0000)=223.14 M (223.14 M*0.994/1000= 0.2218 T)
#5=3.48 M*(1-0.0000)=3.48 M (3.48 M*1.560/1000= 0.0054 T)
“*BH O B A PR AR AR AR AR 5 /NET (A B D S b 0 BRRA O b 451 ):
#5=28.80 M (28.80*1.560/1000= 0.0449 T)

A/ NEH(EEMHEEA) = 0.2722 T

HRR/NET(E )= 4.30 M2

B LT/NET = 0.645 M3

PNA21-01-#/8: P1, ¥ 88: W15, R 5 23 [X7:+197,Y16:-60] , §&£: (345.0)=345.00 cm, #&5:360.0 cm

X #= (Int((345-5-5)/15)+1)1100= 23

#4 [— HEEH(F14) HE R E(EX)[—HIE-THE]360+[IRE#HE]37=397.00 91.31
EEHBER(FE14)= 397.007 [ #]23/100= 91.31 M

#4 K (E148) KERE(BEX)= 345+[1]Int(345/(8*100))*48+[E 17 #-Ld] 96.37
e O*[M[A1]2*37+[ BB B AT #E 41 81-Ld]37*2= 419.00

X 8= [Int((360-5-5-[F 19 #RRR%]16.00)/15)+1)/100= 23 X
KEFRER(E148)= 419.00*[% £1]23/100= 96.37 M

X #= Int((345-5-5)/15)+1)/100= 23

#4 [— EEH(EE248) BEEREEX)—HRIE-TERE]360+[EE§#E]37=397.00 91.31
FEEGEE(E24)= 397.00° % #]23/100= 91.31 M

#4 KR (5E248) KERE(BX)= 345+[151]Int(345/(8*100))*48+[# 1 #4-Ld] 96.37
e O*[AAI]2*37 +[ 38 B #7E  # #-Ld]37*2= 419.00

X #0= [Int((360-5-5-[ Tt #2KRZE]16.00)/15)+1)/100= 23 X
KEHHE(F240)= 419.00* [ #]23/100= 96.37 M

#5 RO fEsR AR
1-#5 B5: W17 [I0384834]((200+100%2)+(180+100%2))*2*[i8]2*[%]1/100= 31.20 M
#5 B W17 [AFB#HE58]100* (™ A]4*[38]2*[%]1/100= 8.00 M
#5 LI E/NET[UB4H54]= 31.20 M
#5 Ll E/NET[ABRIEE]= 8.00 M
#5 T1ERA:
JKFEHEEL: Int(345.00/60)= 5
FEHE B Int(360.00/60)= 6
TERBE:((15-3*2)+10*2) K FEHE B 5 [E E HE2X]6= 8.70 M
YEEA O LB E &
P9 %5 B O @ #&:(W17)200*180=3.60 m2
IS mEER A HERmETE): 12.42 m2
B0 L151:3.60/12.42=0.2899
EhRETE:
REE:A
INER 1 HRJEE:(CS)=(L)345.00%(H)(360-16)*2/10000=23.74 M2
LA EHE F EARRR/NET: 23.74 M2
P8 B DS AR 0B
1. B (W17):200*180*2[{81]/10000=7.20
$4%:(200+180)*2*15/10000=1.14
PIEE R O RRIOBR/NET: 7.20 M2
PSR O £HERI /T 1.14 M2
*ﬁﬁﬁf;: 23.74-[F8540]7.20-[ B F1BH 0 $71]0.00+[ P985 $14&]1.14+[ B EA B O 34510.00-[{8 & 32 $40]0.00=17.68 M2
RCEE:
KREZ:A
INER 1 RRJE:(CS)=(L)345.00%(H):(360-16)*(t)15/1000000=1.780 M3
LI b ERC/NET: 1.780 M3
FA%5 B3 O RCHIBR:
1.8(W17):200%180*15/1000000=0.540
PR B O RCHIRR/MET: 0.540 M3
RC/I\st: 1.780-[F9%5 B O RC]0.540-[ B Fa B O RC]0.000= 1.240 M3
-------------- E R K- 9] |\ R
S /NG (IKBA O Ee B0 RR %) (#EBA O EL151:0.2899)
#4=375.36 M*(1-0.2899)=266.56 M (266.56 M*0.994/1000= 0.2650 T)
#5=8.70 M*(1-0.2899)=6.18 M (6.18 M*1.560/1000= 0.0096 T)
B8 O B A PR #H SR AR B0 43 /N Et (AR EB > A HIBRBA O LR A1)
#5=39.20 M (39.20*1.560/1000= 0.0612 T)
AR/ NEH(EE M +EEAT) = 0.3357 T
BAR/NET(E )= 17.68 M2
SR /NET = 1.240 M3

PNA21-01-t£f&: P1, #54L5%: W15, fLE F35%: 24 [X6:-188,Y15:-65] , & &: (175.5)=175.50 cm, f&=:10.0 cm
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#4 _J BEEMH(E14) BEREEX)[FSE]10+[HE M+ 0]15+[90F & $1]18.3= 5.19
43.28
X 8= (Int((175.5-5-5)/15)+1)/100= 12
FEEFER(E )= 43.28 X #]12/100= 5.19 M
#4 KT (EE148) KFERE(BEX)= 175.5+[#5#]Int(175.5/(8*100))*48+[ 1 1 84- 2.13
— Ld]O*[MiAl]2*37+[38 E AT i A 80-Ld]37*1= 212.50
X#=1/100=13%
IKEHHAE(E140)= 212.50* [ #]1/100= 2.13 M
#4 J EEF(FE24) EERE(EX)FSIE]10+[FE M+ $]15+[90F & £4]18.3= 5.19
43.28
X 8= Int((175.5-5-5)/15)+1)/100= 12
T E R (FE240)= 43.28*[%£4]12/100= 5.19 M
#4 JK B (EE248) KFERE(BEX)= 175.5+[#5#]Int(175.5/(8*100))*48+ [ 1 84- 2.13
— Ld]O*[MiA]]2*37+[38 T i A 8h-Ld]37*1= 212.50
X #=1/100=1%

IKE M E(F248)= 212.50* [ #]1/100= 2.13 M

#5 TEfn:
JKFEHEEL: Int(175.50/60)= 2
T E B Int(10.00/60)= 0
TEREE:((15-3*2)+10*2)* /K T HE &2 [ E HE24]0= 0.00 M
EARETE:
KEE:1
INER1: 3B E=(L)175.50%(H)10*2/10000=0.35 M2
LA B F EE bR/ 0.35 M2
$ B/ E1:15%10%1/10000=0.02 M2
Eﬁglgz 0.37-[F9E540]0.00-[ & Fa B 01 $00]0.00+[ P9 85 $4%]0.00-+[ E £ 5 O $+4£]0.00-[{81 & 32 #%41]0.00=0.37 M2
RCET&E:
NG
INER 1 B HE=(L)175.50%(H)10%(t)15/1000000=0.026 M3
LI EHEFZERC/MET: 0.026 M3
RC/INet: 0.026-[F9%5 B8 0 RC]0.000-[ & B A RC]0.000= 0.026 M3
-------------- FHEHERNG -
AR/ ET(1KBA O L FI30BR#): (#5630 L 451:0.0000)
#4=14.64 M*(1-0.0000)=14.64 M (14.64 M*0.994/1000= 0.0146 T)
MA/NEH(EER)=0.0146 T
/NG ()= 0.37 M2
iBEEL/MET = 0.026 M3

PNA21-01-#£8: P1, #&4C5%: W15, L& F5%: 30 [X9:+119,Y15:-186] , #&&: (1652.5+1252.5+1652.5)=4557.50
cm, $&5:150.0 cm

#4 BEEH(E14) BEEEEX)[FE1E]150+ = >60cm, KI5 1E]148*1+[IE 703.10
_J e+ 40]15+[90 % & $5]18.3= 231.28
X 8= (Int((4557.5-5-5)/15)+1)/100= 304
T E R (E140)= 231.28*[X #]304/100= 703.10 M
#4 JKFEFH(EE14H) KRB (BEX)= 4557 5+ [ #£]Int(4557.5/(8*100))*48+[ & 4 501.95
= -Ld]2*[RaA]2*37+[BE R AT M5+ 28-Ld]37*2= 5,019.50
X #=10/100=10 X
KEFHHEE(E14)= 5,019.50*[ £]10/100= 501.95 M
#4 |E(5E24) EERE(EX)[FE1E]150+[#E5>60cm, ELHHE 151481+ 703.10
J {i+4E $67]15+[90 EE £ £47]18.3= 231.28
X 8= Int((4557.5-5-5)/15)+1)/100= 304
EHEGER(FE248)= 231.28*[3X £1]304/100= 703.10 M
#4 JK T (5E24H) K ERE(BEX)= 4557 5+ [ #£]Int(4557.5/(8*100))*48+[ & 4 501.95
S -Ld]2*[RaA]2*37+[BE R AT 5 £ 28-Ld]37*2= 5,019.50
X #=10/100=10 %
KEHHEE(FE248)= 5,019.50*[ X £]10/100= 501.95 M

#5 ARRtEAR:
LEEARE: (& =]150* & #7810 2*[32]*4/100= 12.00 M
#5 T1Efh:
JKEHEH: Int(4557.50/60)= 75
FHEHEE: Int(150.00/60)= 2
TEREE:((15-3*2)+10*2) K T HE 875 [EE HEEk]2= 43.50 M
EhRETE:
KER:1
X INER 1 BB =(L)1652.50%(H)150*2/10000=49.58 M2
%2
INER1: B E=(L)1252.50%(H)150*2/10000=37.58 M2
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KE:3

INER 13 B8 =(L)1652.50%(H)150*2/10000=49.58 M2

LA LS F EE AR /NET: 136.73 M2

HRR/INET: 136.73-[F9%5$0]0.00-[ B H B O $0]0.00+[P9 55 £4£]0.00+[ B B B O £H4&]0.00-[{8 # 38 $£40]0.00=136.73 M2

RCEtE

N
INER 13 E B =(L)1652.50%(H)150%(t)15/1000000=3.718 M3

KEg:2
KE:3

INER 1B HE=(L)1252.50%(H)150%(t)15/1000000=2.818 M3

INER B HE=(L)1652.50%(H)150%(t)15/1000000=3.718 M3

LI E#EFERC/ME: 10.254 M3

R(;Z/J\E‘I': 10.254-[F9& F ARC]0.000-[ B B EAERC]0.000= 10.254 M3

AT EIER/NG

S /NG (K BA O E B0 RR % ): (#8BF O EL451:0.0000)
#4=2,410.10 M*(1-0.0000)=2,410.10 M (2,410.10 M*0.994/1000= 2.3956 T)
#5=43.50 M*(1-0.0000)=43.50 M (43.50 M*1.560/1000= 0.0679 T)
A 0 EL A BRARBR AR 50 7 /N et -~ (R BB 0 S HOBRBA O LE431):

#5=12.00 M (12.00*1.560/1000= 0.0187 T)

AR NEH(EE M +EEA) = 24822 T
ERR/NET(E )= 136.73 M2

iRAE L /NET = 10.254 M3

PNA21-01-#8/8: P1, $&L5%: W15, (1B FF5E: 12 [X5:-182,Y0:+186] , I&E&:
(12.4+12.7+12.7+12.6+6.4+6.3+6.3+6.3+6.3+6.3+5.9+41.6+41.2+41 .2+41 2+41 2+41 2+41 2+41 2+41 2+41.2+4
1.2+41.2+41.2+41.2+54.9)=726.30 cm, §#&%:90.0 cm ,&#2:-75cm

#4 _J EEH(E14) BEEREEX)ESIE, & ST2]190+[HE+E 8]15+[90 F 4] 59.18
18.3= 123.28
F &= (Int((726.3-5-5)/15)+1)/100= 48
FEFER(E14H)= 123.28*[X #]48/100= 59.18 M
#4 KB (E148) KERE(EX)= 726.3+[11]Int(726.3/(8*100))*48+[ & {7 8%- 48.02
e Ld]O*[MifRl]2*37+[BE E i & i+ 8k-Ld]37*2= 800.30
X #=6/100=6 %
JK R R (5% 148)= 800.30*[3Z ££]6/100= 48.02 M
#4 J EEH(FE2H) FEREEX) S, & S2]190+[HE 8 +E §]15+[90 F 4] 59.18
18.3= 123.28
X 8= Int((726.3-5-5)/15)+1)/100= 48
FHEGHER(E240)= 123.28* 3 1]48/100= 59.18 M
#4 K5 (5E248) KERE(BEX)= 726.3+[121£]Int(726.3/(8*100))*48+[ & {7 2%- 48.02
— Ld]O*[MiRl]2*37+[BE E AT i i+ 8k-Ld]37*2= 800.30
X #=6/100=6 %
JK R R (5$248)= 800.30*[3Z ££]6/100= 48.02 M
#5 T 1Efh:

KT HEE: Int(726.30/60)= 12
FEEHEEL: Int(90.00/60)= 1
THERBEE:((15-3*2)+10°2) K FH &2 [EEHEE]1= 3.48 M
BT E:
KEE:1
INR1: 3 EE=(L)12.44%(H)90*2/10000=0.22 M2

KRE&:2
KEx:3
K4
KEx:5
KEx:6
K7
KEx:8
KEx:9
RE:10
REg:11

INEE1: B HE=(L)12.66%(H)90%2/10000=0.23 M2

INEE 1 B HE=(L)12.66%(H)90%2/10000=0.23 M2

INEE1 -3 =8 =(L)12.61*(H)90*2/10000=0.23 M2

INEE 1 B HE=(L)6.39%(H)90*2/10000=0.12 M2

INBE: B HE=(L)6.33%(H)90*2/10000=0.11 M2

INEE 1 B HE=(L)6.33%(H)90*2/10000=0.11 M2

INEE1: B HE=(L)6.33%(H)90*2/10000=0.11 M2

INBE1: B HE=(L)6.33%(H)90*2/10000=0.11 M2

INBE: B HE=(L)6.33%(H)90*2/10000=0.11 M2

INBE B HE=(L)5.92%(H)90*2/10000=0.11 M2
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KEx:12

INER1: 3 EE=(L)41.61%(H)90*2/10000=0.75 M2
ﬁgﬂ@% 2 EE=(L)41.20%(H)90*2/10000=0.74 M2
ﬁgﬂ@% 2 EE=(L)41.20*(H)90*2/10000=0.74 M2
ﬁg/'ll?% 2 EE=(L)41.20%(H)90*2/10000=0.74 M2
ﬁgﬂ@% 2 EE=(L)41.20%(H)90*2/10000=0.74 M2
ﬁgﬂ@% 2 EE=(L)41.20%(H)90*2/10000=0.74 M2
jc;g/'ll%% 2 EE=(L)41.20%(H)90*2/10000=0.74 M2
jc;g/'ll%% 2 EE=(L)41.20%(H)90*2/10000=0.74 M2
jc;g/'lz\g% 2 EE=(L)41.20%(H)90*2/10000=0.74 M2
ﬁg/'lz\;% 2 EE=(L)41.20%(H)90*2/10000=0.74 M2
ﬁg/'lz\%% 2 EE=(L)41.20%(H)90*2/10000=0.74 M2
ﬁg/'lz\?% 2 EE=(L)41.20%(H)90*2/10000=0.74 M2
ﬁg/'lz\é% 2 EE=(L)41.20%(H)90*2/10000=0.74 M2
ﬁg/'lz\?% 2 EE=(L)41.20%(H)90*2/10000=0.74 M2
ﬁg/:lz\?% 2 EE=(L)54.86*(H)90*2/10000=0.99 M2

Lk E B4R b/NEL: 13.07 M2

Eéﬂg;lg: 13.07-[M&$0]0.00-[ & H B A #1]0.00+[F9 8 £14£]0.00+[ & Fa B O £4%]0.00-[81 1 32 #%#01]0.00=13.07 M2
RC&ETH:

N

INER1: 3 EiE=(L)12.44%(H)90%(t)15/1000000=0.017 M3
KEg:2

INER 13 EE=(L)12.66%(H)90*(t)15/1000000=0.017 M3
KE:3

INER1: 3 EE=(L)12.66*(H)90*(t)15/1000000=0.017 M3
KE:4

INER1: 3 EE=(L)12.61%(H)90%(t)15/1000000=0.017 M3
KE:5

INER 13 E 5 =(L)6.39*(H)90%(t)15/1000000=0.009 M3
KE::6

INER1: 3 E 5 =(L)6.33*(H)90%(t)15/1000000=0.009 M3
K7

INER1: 3 E 5 =(L)6.33*(H)90%(t)15/1000000=0.009 M3
N

INER1: 3 E 5 =(L)6.33*(H)90%(t)15/1000000=0.009 M3
KEE:9

INER1: 3 E 5 =(L)6.33*(H)90%(t)15/1000000=0.009 M3
KE&:10

INER1: 3 E 5 =(L)6.33*(H)90%(t)15/1000000=0.009 M3
REE:11

INER 13 E B =(L)5.92*(H)90%(t)15/1000000=0.008 M3
KEZ:12

INER 13 E B =(L)41.61%(H)90%(t)15/1000000=0.056 M3
KE&:A13

INER1: 3 E B =(L)41.20%(H)90*(t)15/1000000=0.056 M3
KEx:14

INER1: 3 EE=(L)41.20%(H)90*(t)15/1000000=0.056 M3
KE&:15

INER1: 3 E 5 =(L)41.20%(H)90%(t)15/1000000=0.056 M3
KE&:16

INER 13 EE=(L)41.20%(H)90*(t)15/1000000=0.056 M3
KRE&:A17

INER 13 E 5 =(L)41.20%(H)90*(t)15/1000000=0.056 M3
KEX:18

INER 13 EE=(L)41.20%(H)90*(t)15/1000000=0.056 M3
KE&:19

INER 13 E HE=(L)41.20%(H)90*(t)15/1000000=0.056 M3
KE&:20

INER 13 B 5 =(L)41.20%(H)90%(t)15/1000000=0.056 M3
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KER:21
INER 13 EE=(L)41.20%(H)90*(t)15/1000000=0.056 M3
KEx:22
INER 13 EE=(L)41.20%(H)90%(t)15/1000000=0.056 M3
KEx:23
INER 13 B iE=(L)41.20%(H)90%(t)15/1000000=0.056 M3
KEx:24
INER 13 EE=(L)41.20%(H)90%(t)15/1000000=0.056 M3
KEx:25
INER1: 3B E=(L)41.20%(H)90*(t)15/1000000=0.056 M3
KEX:26
INER 13 B i =(L)54.86%(H)90%(t)15/1000000=0.074 M3
L E#EFERC/MET: 0.981 M3
RC/IVet: 0.981-[F9%5 B O RC]0.000-[ B Fa B A RC]0.000= 0.981 M3
-------------- SHEHER G-
AR /INET(IKBE O LLBIF0BR#R): (#EBA O EL451:0.0000)
#4=214.39 M*(1-0.0000)=214.39 M (214.39 M*0.994/1000= 0.2131 T)
#5=3.48 M*(1-0.0000)=3.48 M (3.48 M*1.560/1000= 0.0054 T)
MAR/INET(EERH)=0.2185T
RR/INETH(E)= 13.07 M2
B L/NE =0.981 M3

PNA21-01-#2/8: P1, $E4K58: W15, 1B F % 13 [X4:-156,Y1:-124] , #&£&: (838.0+337.5)=1175.50 cm, #&&:15.0
cm

#4 _J F|EH(E14) BEEREEX)[F S5+ +E8)15+[90F & $7]18.3= 37.66
48.28
X #= (Int((1175.5-5-5)/15)+1)/100= 78
FEEGEE(E14)= 48.28* % £]78/100= 37.66 M
#4 KEEH(E148) KEERE(EX)= 11755+ ]Int(1175.5/(8*100))*48+ [ 1t 13.72
— B-Ld]1* [ AJ2*37+ [ AT B-Ld]37+2= 1,371.50
X #=1/100=1 X
K PG E(E148)= 1,371.50 [ £]1/100= 13.72 M
#4 J T (H24) B R (X)) 58] 5+[E i+ 4] 15+ [90 EF E44]18.3= 37.66
48.28
X H= Int((1175.5-5-5)/15)+1)/100= 78
FEEEE(E248)= 48.28*3 2]78/100= 37.66 M
#4 KEEH(E248) KEERE(EX)= 11755+ ]Int(1175.5/(8*100))*48+ [ 13.72
_— i&gdh [ 2*37 + BB RHTEEE 8-Ld]37+2= 1,371.50
=1/100= 1%

KRR (5E240)= 1,371.50*[% #4]1/100= 13.72 M

#5 AlEHAm:
LESE AR [Ee]15 28" 1*[3Z]*4/100= 0.60 M
#5 T1ERS:
JKTEHEEL: Int(1175.50/60)= 19
FHEHEE: Int(15.00/60)= 0
TERREE:((15-3*2)+10*2)* /K T HEER]19* [ E HEE4]0= 0.00 M
EARETE:
NG
INER1: 3 B 5=(L)838.02%(H)15*2/10000=2.51 M2
KEg:2
INER1: 3 B iE=(L)337.49%(H)15*2/10000=1.01 M2
LU E S EERR/NET: 3.53 M2
EH&;};: 3.53-[F9E54010.00-[ & FaBA O $0]0.00+[FI 5 £4&10.00+[ & F3 B O $14%]0.00-[{81 & 3 $£40]0.00=3.53 M2
RCEt&E:
N
INER 1 B HE=(L)838.02%(H)15%(t)15/1000000=0.189 M3
KEE:2
INER 1 B HE=(L)337.49%(H)15%(t)15/1000000=0.076 M3
LI EHEFERC/MET: 0.264 M3
RC/INet: 0.264-[F9%5 B8 0 RC]0.000-[ & B A RC]0.000= 0.264 M3
-------------- FHEBERNG -
SR /NG (K BA O L B0 RR %) (#EBA O EL451:0.0000)
#4=102.75 M*(1-0.0000)=102.75 M (102.75 M*0.994/1000= 0.1021 T)
B O B A PR R A SR 5 /N ET - (AR ER 2 A 0B O LE41):
#5=0.60 M (0.60%1.560/1000= 0.0009 T)
A/ NEH(EE M +EEA) = 01031 T
EAR/NEH(E )= 3.53 M2
iBEEL/VET = 0.264 M3
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PNA21-01-t&f&: P1, #54L5%: W15, GIE F3%: 9 [X4:-166,Y5:+25] , & &: (67.5+165.0+67.5)=300.00 cm, i&

5:140.0 cm
#4 EEH(E14) EERE(EX) (4 SE]140+[{E5>60cm, EERHE #1481+ [T 44.26
J fea+ 88 4] 15+[90 BE 6 441]18.3= 221.28
F 8= (Int((300-5-5)/15)+1)/100= 20
EEFEE(E140)= 221.28* [ #]20/100= 44.26 M
#4 KERH(E14E) KR (B X)= 300+[{24£]Int(300/(8*100))*48+[E i #1-Ld] 40.32
—_— 2 [MM]2*37+[EE B AT S 4 88-Ld]37*0= 448.00
X #=9/100=9 X
JKE g E (E140)= 448.00*[3££]9/100= 40.32 M
#4 HEM(F24) BE R E(EX)[FEHE]140+[1E&>60cm, EARHE 148" 1+[iE 44.26
_J {6+ 4] 15+[ 90 £ £67]18.3= 221.28
X #= Int((300-5-5)/15)+1)/100= 20
BEEGEE(E24)= 221.28*[X ]20/100= 44.26 M
#4 K (E248) JKEEE (B )= 300+[{21£]Int(300/(8*100))*48+[E 1 #1-Ld] 40.32
— 2*[Mim]2*37+[EB B #rHE S+ 2-Ld]37*0= 448.00
X #=9/100=9 X
IKE g E (F240)= 448.00*[3££]9/100= 40.32 M

#5 AlRHAR:
LEE AR S S]140 BT 8" 2*[3Z]*4/100= 11.20 M
#5 TERA:
JKFEHEEL: Int(300.00/60)= 5
FHEHEEL: Int(140.00/60)= 2
TEERERE:((15-3"2)+10*2) K B 5 [ E HE 84]2= 2.90 M

EARETE:
N
INER 13 B =(L)67.50%(H)140*2/10000=1.89 M2
KEg:2
INER1: 3 EHE=(L)165.00%(H)140*2/10000=4.62 M2
KE:3

INER 1 B 1E=(L)67.50%(H)140%2/10000=1.89 M2
LA B S F E4E AR /NET: 8.40 M2
$HAIRE/VE:15%140%2/10000=0.42 M2

HEhRR/NET: 8.82-[P1E5$0]0.00-[ B B O #0]0.00+[ 9 %5 £14%]0.00+[ & Ha A O £14%]0.00-[{8 1 32 $%$0]0.00=8.82 M2

RCEHE:
N
INER 1B HE=(L)67.50%(H)140%(t)15/1000000=0.142 M3
KEg:2
INER 13 B E=(L)165.00%(H)140*(t)15/1000000=0.347 M3
KE:3

INER 13 B =(L)67.50%(H)140%(t)15/1000000=0.142 M3
LI E#EFERC/VE: 0.630 M3
C/l\rd' 0.630-[FEBIARC]0.000-[ B FABIARC]0.000= 0.630 M3

A /NET(IKEA l:l twum Bx7%): (#&FA 0 EL451:0.0000)
#4=169.15 M*(1-0.0000)=169.15 M (169.15 M*0.994/1000= 0.1681 T)
#5=2.90 M*(1-0.0000)=2.90 M (2.90 M*1.560/1000= 0.0045 T)
*BA O B A PR A SR AR ER 42 /N Et - (R EB 0 A 0 $0BREA O LL A1)
#5=11.20 M (11.20*1.560/1000= 0.0175 T)
M /NEH(EERH+EEM) = 01901 T
HBAR/NVET(E )= 8.82 M2
R /NET = 0.630 M3

PNA21-01-#2/8: P1, 4558 W15, (B FE8E: 14 [X6:+151,Y15:-161] , $&&: (642.5+472.5)=1115.00 cm, §&

5:150.0 cm
#4 EEF(E14) TEEEEX)[HEH]150+ [ =>60cm, E LR 121481+ [FE 171.15
J {e+E480]15+[90 FE 4 461]18.3= 231.28
X #= (Int((1115-5-5)/15)+1)/100= 74
FEEGRER(E140)= 231.28* [ ]74/100= 171.15 M
#4 JKERR(EE148) KERE(EX)= 1115+[8#]Int(1115/(8*100))*48+[ & {7 #%- 131.10

- Ld]1*[fm]2*37+ 8 B i+ 8-Ld]37*2= 1,311.00
X &= 10/100= 10 X
KEEHEE(E14)= 1,311.00* % %]10/100= 131.10 M
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$

#4 B (B24) BHE R E(EX)FEE]150+[iEE>600m, E AR 11481 +[IE 171.15
_J e+ 4471 5+[90 FE 4 $4]18.3= 231.28

X #H= Int((1115-5-5)/15)+1)/100= 74

FEARE(S24)= 231.28" % #]74/100= 171.15 M

&

#4 IKF (56 248) KERE(EX)= 1115+ H]Int(1115/(8*100))*48+ [ 7 &- 131.10
- Ld]1*[Ra[a]]2* 37+ [EE B # HE g4 24-L.d]37*2= 1,311.00
X #=10/100= 10 X

KEFREE(E248)= 1,311.00*[3 £]10/100= 131.10 M

#5 AlEWHAm:
LA AR [fES]150 [ 37 8" 1*[32]*4/100= 6.00 M
#5 T1ERS:
JKTEHESEL: Int(1115.00/60)= 18
THEHEE: Int(150.00/60)= 2
TAEMEE ((15-3*2)+10*2) K FHE B 18 [ EHE#]2= 10.44 M
EhRETE:
N
INER1: 3 BB =(L)642.50%(H)150*2/10000=19.28 M2
KEg:2
INER 1 BB =(L)472.50%(H)150*2/10000=14.18 M2
LI F EERR/NET: 33.45 M2
Eﬁﬁfgz 33.45-[F9&#1]0.00-[ & Fa B O $0]0.00+[F9 25 $£44]0.00-+[ B F B O $14£]0.00-[81 E 32 $£40]0.00=33.45 M2
RCEt&E:
NG
INER 1 B 1E=(L)642.50%(H)150%(t)15/1000000=1.446 M3
KEg:2
INER 1 B 1E=(L)472.50%(H)150%(t)15/1000000=1.063 M3
LI EHEFERC/MET: 2.509 M3
RC/INet: 2.509-[F9 %5 B 0 RC]0.000-[ & H B A RC]0.000= 2.509 M3
-------------- FHEBHRN -
SRAR/INET (KB O Ee B30 Rk ): (8B O EL451:0.0000)
#4=604.50 M*(1-0.0000)=604.50 M (604.50 M*0.994/1000= 0.6009 T)
#5=10.44 M*(1-0. 0000) 10.44 M (10.44 M*1.560/1000= 0.0163 T)
B O B A PR R AR SR 5 /NET - (RS 2 R 0B EA O LE451):
#5=6.00 M (6.00%1.560/1000= 0.0094 T)
M /NEH(EERH+HEM) = 06265 T
R /INET(E )= 33.45 M2
R /NET = 2.509 M3

PNA21-01-#£f&: P1, #&L5%: W15, fIE F5%: 20 [X6:-133,Y11:-65] , #&&: (2490.0)=2490.00 cm, #&&=:150.0 cm

#4 TEM(H14) B EE(EX)[ESIE]150+[BE>60cm, KD 51481 +[IE 383.93
J fe+12 4] 15+[90 i 47]18.3= 231.28
X #= (Int((2490-5-5)/15)+1)/100= 166
FEGRE(E14)= 231.28* [ #]166/100= 383.93 M

#4 IKF R (F148) KERE(EX)= 2490+[H51£]Int(2490/(8*100))*48+[EH7 8- 267.10
- Ld]0*[MamI]2*37+[E8 E i s A 84-Ld]37*1= 2,671.00
X #=10/100=10 X%

KEFHHER(E14)= 2,671.00* [ 2]10/100= 267.10 M

$

#4 EEM(E240) BEERE(EX)[FE1E]150+{EE>60cm, K &R HE 11481+ 383.93
J fea+4 4671 5+[90 FE 4 $4]18.3= 231.28

X H= Int((2490-5-5)/15)+1)/100= 166

FHEHRE(E248)= 231.28* [ #]166/100= 383.93 M

&

#4 IKF R (5248) KERE(EX)= 2490+[H51£]Int(2490/(8*100))*48+[EH7 8- 267.10
- Ld]0*[MamI]2*37+[B8 E i i A 84-Ld]37*1= 2,671.00
X #=10/100=10 X%

KR (E24)= 2,671.00*[% 2]10/100= 267.10 M

#5 T1Edn:
JKTEHEEL: Int(2490.00/60)= 41
FHEHEE: Int(150.00/60)= 2
TERBE:((15-3"2)+10*2) UK FEHE B4 1 [EE HE2H]2= 23.78 M
EHRETE:
REx:A
INER1: B 5=(L)2490.00%(H)150*2/10000=74.70 M2
LA ENE F EAR AR /NET: 74.70 M2
A& /N ET:15%150%1/10000=0.23 M2
Eﬁﬁfgt 74.93-[F9%540]0.00-[ & Fa B O 40]0.00+[F9 %5 £14&10.00+[ B H B O £145£]0.00-[{81 & 3 $£40]0.00=74.93 M2
RC:Et&E:
REE:A
INER 1 B 15=(L)2490.00%(H)150%(t)15/1000000=5.603 M3
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Ll EfEFERC/NET: 5.603 M3
RC/|V&t: 5.603-[F9%5 R O RC]0.000-[ B F1 B O RC]0.000= 5.603 M3
-------------- FHEHER N
AR/ NET(IREA O L B0 BR#R): (#&RF O LL451:0.0000)
#4=1,302.06 M*(1-0.0000)=1,302.06 M (1,302.06 M*0.994/1000= 1.2942 T)
#5=23.78 M*(1-0.0000)=23.78 M (23.78 M*1.560/1000= 0.0371 T)
MAR/INEH(EER) = 1.3313 T
BAR/NET ()= 74.93 M2
R /et = 5.603 M3

PNA21-01-#88: P1, #EH8E: W15, (B FEaE: 19 [X5:-6,Y8:+198] , Y& £ (1237.5)=1237.50 cm,

% =:40.0 cm

#4 J B (FE148) FEERE(EX)FESIE40+[IEH+E40]15+[90F & £4]18.3= 60.09
73.28
X #= (Int((1237.5-5-5)/15)+1)/100= 82
FEEGER(E148)= 73.28*[3 £]82/100= 60.09 M
#4 JKEFR(EE148) JKERE(EX)= 1237.5+[###]Int(1237.5/(8*100))*48+[ & 17 40.79
E— -Ld]0* [ R]2*37+[BE R AT NG+ 8k-Ld]37*2= 1,359.50
X #=3/100=3 %
KEHHERE(F140)= 1,359.50*[ 3 8]3/100= 40.79 M
#4 _J B (FE248) EERE(EX)FEIE40+[E M+ 49]15+[90F & §4]18.3= 60.09
73.28
F#= Int((1237.5-5-5)/15)+1)/100= 82
T E 8 R (S 24H)= 73.28*[2 #4]82/100= 60.09 M
#4 JKE#R(5E24R) KERE(EX)= 1237.5+[##]Int(1237.5/(8*100))*48+[ &1 40.79
— 2-Ld]0* [ R]2*37+[BE B ATiE NG 4 88-Ld]37*2= 1,359.50
X #=3/100=3 %
KEFHIER(F24H)= 1,359.50*[ 3 8]3/100= 40.79 M
#5 TEf5:

FKFEHEEL: Int(1237.50/60)= 20
= E B8 Int(40.00/60)= 0
TEERERE:((15-3"2)+10*2) K FHEER[20* [E E HE#4]0= 0.00 M
EARETE:
N
INER 1B HE=(L)1237.50%(H)40%2/10000=9.90 M2
LI EfEF ZEERR/NET: 9.90 M2

¥ RR/INET: 9.90-[P95540]0.00-[ B B O #0]0.00+[ P9 %5 £14%]0.00+[ & Ha A O £14%]0.00-[{8 1 32 $#%$0]0.00=9.90 M2

RCEHE:
KEg:A1
INER 1B HE=(L)1237.50%(H)40%(t)15/1000000=0.742 M3
LI E#EFERC/VE: 0.742 M3
RC/l\u‘I' 0.742-[F# F ARC]0.000-[H B I ARC]0.000= 0.742 M3

AR/ INET (K EE l:l twum &%) (#&6A O LL451:0.0000)
#4=201.75 M*(1-0.0000)=201.75 M (201.75 M*0.994/1000= 0.2005 T)
M /NEH(EER)=0.2005T
HRR/NET(E )= 9.90 M2
gL/ = 0.742 M3

PNA21-01-#&&: P1, #&4L5%: W15, & F55%: 18 [X5:-6,Y8:+163] , #&&: (1237.5)=1237.50 cm,

=5:40.0 cm

#4 J Ef(5E148) EERE(EX)ESIB40+[IEH+E40]15+[90F & £4]18.3= 60.09
73.28
K= (Int((1237.5-5-5)/15)+1)/100= 82
T E 48R (5 14H)= 73.28*[X £4]82/100= 60.09 M
#4 KR (EE148) KERE(EX)= 1237.5+[##]Int(1237.5/(8*100))*48+[ &1 40.79
— -Ld]0* [ R]2*37+[BE R ATiE NG+ 8k-Ld]37*2= 1,359.50
X #=3/100=3 %
KEHIEE(E140)= 1,359.50*[ X 8]3/100= 40.79 M
#4 _J FHEAF(E24) EERE(EX)FEIE40+[EH+E47]15+[90F & §4]18.3= 60.09
73.28
X #= Int((1237.5-5-5)/15)+1)/100= 82
T E 8 R (S 24H)= 73.28*[ % #4]82/100= 60.09 M
#4 JKE 7R (5E248) JKERE(EX)= 1237.5+[##]Int(1237.5/(8*100))*48+[ &1 40.79
— -Ld]0* [/ R]2*37+[BE R ATiE NG+ 81-Ld]37*2= 1,359.50
F#=3/100=3 %
KEHIER(F24H)= 1,359.50*[ X 8]3/100= 40.79 M

#5 TIERG:
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JKEHEEL: Int(1237.50/60)= 20
= E B8 Int(40.00/60)= 0
TEREE:((15-3*2)+10*2)* UK FEHE 220 [Z E HE24]0= 0.00 M
EARETE:
N
INER1: 3B iE=(L)1237.50%(H)40*2/10000=9.90 M2
LA EfEF ZEERR/INET: 9.90 M2
*ﬁcﬁglg: 9.90-[F9B5$01]0.00-[ E Fa I 01 $0]0.00+[ P9 5 $4£]0.00-+[ E F B O $44]0.00-[{81 & 32 $%411]0.00=9.90 M2
RCEr&:
N
INER 1B HE=(L)1237.50%(H)40%(t)15/1000000=0.743 M3
LA EHEF ERC/MET: 0.743 M3
RC/INet: 0.743-[F9%5 B O RC]0.000-[ B F B A RC]0.000= 0.743 M3
-------------- SHEHER -
S /NG (K BA O E B0 RR % ): (#8BF O EL451:0.0000)
#4=201.75 M*(1-0.0000)=201.75 M (201.75 M*0.994/1000= 0.2005 T)
AR /NET(EER) =0.2005 T
R/ (E)= 9.90 M2
BEL/NET =0.743 M3

PNA21-01-428: P1, $E/X5%5: W15, [ BRESE: 6 [X4:-141,Y6:+130] , #&5: (502.5+275.0+512.4+902.5)=2192.40
cm, #&5:150.0 cm

#4

EEH(E1H) FEEREEX)EEIE]150+[ES>60cm, EERHEHE]48*1+[1E 337.67
e+ 48] 15+[90 FE 4 41]18.3= 231.28

X 8= (Int((2192.4-5-5)/15)+1)/100= 146
EHEGER(E14)= 231.28*[X £1]146/100= 337.67 M

#4 KEFH(E140) KT RE(BEX)= 2192 4+[#51]Int(2192.4/(8*100))*48+ [ 254.74
e B-Ld]|3*[MA]2*37+[FE E AT AE A 88-Ld]37*1= 2,547 .40
X &= 10/100= 10 X

KEEHEE(E140)= 2,547 40 [ &]10/100= 254.74 M

(G

fea+4 4671 5+[90 FE 4 $4]18.3= 231.28
T H= Int((2192.4-5-5)/15)+1)/100= 146
FHEHRE(F248)= 231.28*[%#]146/100= 337.67 M

#4 J HE 7 (524) HERE(EX)[F 1] 150+[&5>60cm, KA E1%]48*1+[IE 337.67

#4 JKFEF(FE240) KT RE(BEX)= 2192 4+[#51]Int(2192.4/(8*100))*48+ [ 254.74
e B-Ld]|3*[Mm]2*37+[FE E AT B 88-Ld]37*1= 2,547 .40
X &= 10/100= 10 X

JKEE#EE(F240)= 2,547 403X &]10/100= 254.74 M

#5 ARBtEAR:
LEEEARE: (S =]150* & #781]*3*[32]*4/100= 18.00 M
#5 TERS:
JKTEHEE: Int(2192.40/60)= 36
THEHEE: Int(150.00/60)= 2
TEREE:((15-3*2)+10*2) K T HE 81136 [E E HEEk]2= 20.88 M
EhRETE:
RE&:A
INER 13 B E=(L)502.50%(H)150*2/10000=15.08 M2
KEx:2
INER1: B HE=(L)275.00%(H)150*2/10000=8.25 M2
KE&:3
INER 1 B HE=(L)512.40%(H)150*2/10000=15.37 M2
KEx:4
INER1: 3 B H5=(L)902.50%(H)150*2/10000=27.08 M2
LA EE F EAR AR /NET: 65.77 M2
A& /N ET:15%150%1/10000=0.23 M2
EH}@;};: 66.00-[P9E5$1]0.00-[ & Fa 5 1 #0]0.00+[F9 85 £145]0.00+[ B A 5 O $+4£]0.00-[ {81 & 32 #%41]0.00=66.00 M2
RC&ET&:
REx:A
N INER 1 B 1E=(L)502.50%(H)150%(t)15/1000000=1.131 M3
E&:2
N INER 1 B HE=(L)275.00%(H)150%(t)15/1000000=0.619 M3
E%:3
X INER 1 B 1E=(L)512.40%(H)150%(t)15/1000000=1.153 M3
B4
INER 1 B 15=(L)902.50%(H)150%(t)15/1000000=2.031 M3
LIk ERC/MET: 4.933 M3
RC/VEt: 4.933-[F9%5 R O RC]0.000-[ & F B O RC]0.000= 4.933 M3
-------------- HEHKRNE e
SR /NET (K BA O E B0 RR %) (#5BA D EL451:0.0000)
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#4=1,184.83 M*(1-0.0000)=1,184.83 M (1,184.83 M*0.994/1000=1.1777 T)
#5=20.88 M*(1-0. OOOO) =20.88 M (20.88 M*1.560/1000= 0.0326 T)

B 1 B £ PR 52 A &P
#5=18.00 M (18.00*1.560/1000= 0.0281 T)

A NEH(EE M +EEA) = 1.2384 T

BAR/NET(E )= 66.00 M2
SRR/t = 4.933 M3

S INEH (R B

> R HIRR B O LA ):

PNA21-01-t&/8: P1, i&{C8%: W15, (&

3% 5 [X4:+197,Y6:-63] , iB&:

(7.7+4.9+10.1+7.5+7.4+19.5+6.4+8.8+8.7+8.6+19.5+6.4+8.7+9.9+7.5+19.5+3.1+5.5+6.6+6.6+6.6+4.2+19.5+4.2
+5.5+5.5+4.346.6+6.4+19.5+2.3+5.0+5.0+5.0+5.0+5.0+5.0+5.0+522.5+37.5+1725.0+1252.5+1630.3+1101.5+28.

8+902.5)=7503.10 cm, #&&:150.0 cm

#4 EAF(E14) EEREEX)FE1E]150+[{ES>60cm, K &R EH]48*1+[E 1,156.42
_J e+ §0]15+[90 E E$m]18.3= 231.28
X #= (Int((7503.1-5-5)/15)+1)/100= 500
EHEGHER(E148)= 231.28*[32 £]500/100= 1,156.42 M
#4 IKFRH(E148) KERE(BEX)= 7503.1+[#$#]Int(7503.1/(8*100))*48+[ & 4 841.61
E— -Ld]6*[MiR]2*37+[EE R ATIE B 4L £8-Ld]37*1= 8,416.10
F &= 10/100= 10 X
JKEFF R (FE140)= 8,416.10*[32#]10/100= 841.61 M
#4 EEH(FE2H) EERE(EX)[EER]150+[E=>60cm, ELRHEHE]48*1+[E 1,156.42
_J e+ §]15+[90 EE 4 £]18.3= 231.28
F &= Int((7503.1-5-5)/15)+1)/100= 500
EHEGER(E24)= 231.28*[3 £]500/100= 1,156.42 M
#4 JKE 7R (5E248) JKERE(EX)= 7503.1+[##£]Int(7503.1/(8*100))*48+[ & 1 841.61
E— -Ld]6*[Mim]2*37+[EE R ATIEME4E £8-Ld]37*1= 8,416.10
F &= 10/100=10 X
JKEFF R (F240)= 8,416.10*[32#]10/100= 841.61 M

#5 FPRMSRA:

LESHE A B8: (1851150 Hr84]*6*[3]*4/100= 36.00 M

#5 TYERA:

JKFHEZK: Int(7503.10/60)= 125
EEHEEC Int(150.00/60)= 2
TERRERE:((15-3*2)+10*2) K FHEER 125 [ E HEER]2= 72.50 M

AR &
KEZ:A1

INER 1 F S E=(L)7.67*(H)150%2/10000=0.23 M2

KEZ:2

INEE1: 3 B =(L)4.93*(H)150%2/10000=0.15 M2

KEZ:3

INEE1: 3 EE=(L)10.07*(H)150*2/10000=0.30 M2

KEz:4

INER S HE=(L)7.47*(H)150%2/10000=0.22 M2

KEZ:5

INER 1 F S HE=(L)7.38%(H)150%2/10000=0.22 M2

KEZ:6

INER 1 F S HE=(L)19.49%(H)150*2/10000=0.58 M2

KEZ:7

INER 1 F S HE=(L)6.41*(H)150%2/10000=0.19 M2

KEZ:8

INEE1: 3 S E=(L)8.76*(H)150*2/10000=0.26 M2

KEZ:9

INER 1 F S HE=(L)8.74*(H)150%2/10000=0.26 M2

KE&:10

INEE1: 3 S 1E=(L)8.64*(H)150*2/10000=0.26 M2

RE:11

INEE1: 3 S E=(L)19.48%(H)150*2/10000=0.58 M2

KEZ:12

INER 1 F S HE=(L)6.41*(H)150%2/10000=0.19 M2

KE%:13

INEE1: 3 S =(L)8.75*(H)150*2/10000=0.26 M2

KEx:14

INEE1: 3 S8 =(L)9.87*(H)150*2/10000=0.30 M2

KE&:15

INER 1 F S HE=(L)7.51*(H)150%2/10000=0.23 M2

KE%:16

INEE1: 3 EE=(L)19.51%(H)150*2/10000=0.59 M2

KE&:A17

INER S E=(L)3.11%(H)150*2/10000=0.09 M2
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KE%:18

INER 1 B s =(L)5.48*(H)150*2/10000=0.16 M2
KEE:19

INER 1 B s =(L)6.56*(H)150*2/10000=0.20 M2
KE%:20

INER 1 B S =(L)6.55%(H)150*2/10000=0.20 M2
KEx:21

INER 13 B s =(L)6.58*(H)150*2/10000=0.20 M2
KE:22

INER 1 B S =(L)4.21%(H)150*2/10000=0.13 M2
KRE&:23

INER1: 3B E=(L)19.54%(H)150*2/10000=0.59 M2
KEx:24

INER 1 B S =(L)4.21%(H)150*2/10000=0.13 M2
KEE:25

INER 1 B S =(L)5.48*(H)150*2/10000=0.16 M2
KE%:26

INER 1 B S =(L)5.47*(H)150*2/10000=0.16 M2
KE&:27

INER 1 B s =(L)4.34%(H)150*2/10000=0.13 M2
KE%:28

INER1: 3 B E=(L)6.58*(H)150*2/10000=0.20 M2
KE&:29

INER 1 B s =(L)6.43*(H)150*2/10000=0.19 M2
KE%:30

INER1: 3B E=(L)19.54%(H)150*2/10000=0.59 M2
KE%:31

INER 1 B S =(L)2.31%(H)150*2/10000=0.07 M2
KE%:32

INER 13 B S =(L)5.02*(H)150*2/10000=0.15 M2
KE%:33

INEE 13 B S =(L)5.00%(H)150*2/10000=0.15 M2
KEx:34

INER 13 BB =(L)5.00%(H)150*2/10000=0.15 M2
KE&:35

INER 13 BB =(L)5.00%(H)150*2/10000=0.15 M2
KE%:36

INER 13 B S =(L)5.00%(H)150*2/10000=0.15 M2
RE&:37

INER 13 B S =(L)5.00%(H)150*2/10000=0.15 M2
KE%:38

INER1: 3 E B =(L)5.05%(H)150*2/10000=0.15 M2
KE%:39

INER 1 BB =(L)522.45%(H)150*2/10000=15.67 M2

KE&:40
INER 13 E i =(L)37.50%(H)150*2/10000=1.13 M2
KEZ:41

INER1: 3 EE=(L)1725.00%(H)150*2/10000=51.75 M2

KEx:42

INER1: 3 E B =(L)1252.50%(H)150*2/10000=37.58 M2

KEx:43

INER1: 3 EE=(L)1630.27%(H)150*2/10000=48.91 M2

KEx:44

INER1: 3 EE=(L)1101.46*(H)150*2/10000=33.04 M2

KEx:45
INER 13 E 5 =(L)28.83%(H)150*2/10000=0.86 M2
KEx:46

INER1: 3 EH5=(L)902.50%(H)150*2/10000=27.08 M2

LB E E R RR/NE: 225.09 M2
A4 /N E:15%150%1/10000=0.23 M2

KREZ:A

INER1: 3B E=(L)7.67*(H)150%(t)15/1000000=0.017 M3

KER:2

INER 13 B B =(L)4.93%(H)150%(t)15/1000000=0.011 M3

KEZ:3

INER1: 3B HE=(L)10.07*(H)150%(t)15/1000000=0.023 M3

REx:4

INER 13 B E=(L)7.47*(H)150%(t)15/1000000=0.017 M3

KEZ:5

INER 13 B E=(L)7.38%(H)150%(t)15/1000000=0.017 M3

KEZ:6

#ﬁéﬁ;}; 225.32-[F%540]0.00-[ & E1BA O 1]0.00+[F4 85 £14%10.00+[ & B2 A O $1#5]0.00- {81 E 32 $£$01]0.00=225.32 M2
RC:
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INER1: 35 15=(L)19.49%(H)150%(t)15/1000000=0.044 M3

KE&7

INER 1B HE=(L)6.41%(H)150%(t)15/1000000=0.014 M3
ﬁg/'ﬁﬁ% 2 EE=(L)8.76*(H)150*(t)15/1000000=0.020 M3
ﬁg/'lg\ﬁ% 2 EE=(L)8.74*(H)150*(t)15/1000000=0.020 M3
ﬁg/'llg% 2 EE=(L)8.64*(H)150*(t)15/1000000=0.019 M3
ﬁg};\}é% EEE=(L)19.48*(H)150%(t)15/1000000=0.044 M3
jc;g/'l@% EEE=(L)6.41*(H)150%(t)15/1000000=0.014 M3
jc;g/'ll?% 2 EE=(L)8.75%(H)150*(t)15/1000000=0.020 M3
jc;g/f\é% 2 EE=(L)9.87*(H)150*(t)15/1000000=0.022 M3
ﬁgﬂ@% EEE=(L)7.51*(H)150%(t)15/1000000=0.017 M3
ﬁgﬂ@% S EHE=(L)19.51%(H)150%(t)15/1000000=0.044 M3
ﬁgﬂ@% EEE=(L)3.11*(H)150%(t)15/1000000=0.007 M3
ﬁgﬂ@% 2 EE=(L)5.48*(H)150*(t)15/1000000=0.012 M3
ﬁgﬂ@% 2 EE=(L)6.56*(H)150*(t)15/1000000=0.015 M3
ﬁg/'lz\cﬁ)% 2 EE=(L)6.55%(H)150*(t)15/1000000=0.015 M3
ﬁg/'lz\;% 2 EE=(L)6.58*(H)150*(t)15/1000000=0.015 M3
jc&/'lz\%% EEE=(L)4.21*(H)150*(t)15/1000000=0.009 M3
jc&/'lz\?% EEE=(L)19.54*(H)150%(t)15/1000000=0.044 M3
jc&/'lz\é% EEE=(L)4.21*(H)150%(t)15/1000000=0.009 M3
jc&/'lz\?% 2 EE=(L)5.48*(H)150*(t)15/1000000=0.012 M3
jc&/'lz\?% S EE=(L)5.47*(H)150%(t)15/1000000=0.012 M3
ﬂg/'lz\é% 2 EE=(L)4.34*(H)150*(t)15/1000000=0.010 M3
ﬂg/'lz\%% 2 EE=(L)6.58*(H)150*(t)15/1000000=0.015 M3
ﬂg/'lz\%% 2 EE=(L)6.43*(H)150*(t)15/1000000=0.014 M3
ﬂg/'l?icﬁ)% EEE=(L)19.54*(H)150%(t)15/1000000=0.044 M3
ﬂg/'l?i;% EEE=(L)2.31*(H)150*(t)15/1000000=0.005 M3
jc&/'l?é% 2 EE=(L)5.02*(H)150%(t)15/1000000=0.011 M3
ﬂg/'l?i?% 2 EE=(L)5.00*(H)150%(t)15/1000000=0.011 M3
jc&/'ﬁé% 2 EE=(L)5.00*(H)150%(t)15/1000000=0.011 M3
jc&/'l?i?% 2 EE=(L)5.00*(H)150%(t)15/1000000=0.011 M3
jc&/'ﬁ?% 2 EE=(L)5.00*(H)150%(t)15/1000000=0.011 M3
ﬂg/'l?g% 2 EE=(L)5.00*(H)150%(t)15/1000000=0.011 M3
ﬂg/'l?ﬁ% 2 EE=(L)5.05*(H)150%(t)15/1000000=0.011 M3
ﬂg/'l?i?% S EE=(L)522.45%(H)150%(t)15/1000000=1.176 M3
ﬂg/'ﬁg% 2 EE=(L)37.50*(H)150%(t)15/1000000=0.084 M3
ii)%% 2 EE=(L)1725.00*(H)150%(t)15/1000000=3.881 M3

INER B HE=(L)1252.50%(H)150%(t)15/1000000=2.818 M3
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KREx:43

INER1: 3 EE=(L)1630.27%(H)150%(t)15/1000000=3.668 M3

KEx:44

INER1: 3 EHE=(L)1101.46*(H)150%(t)15/1000000=2.478 M3

KEx:45

INER 1 B HE=(L)28.83%(H)150%(t)15/1000000=0.065 M3

KEx:46

INER 1 B HE=(L)902.50%(H)150%(t)15/1000000=2.031 M3

LI E#EFERC/VE: 16.882 M3

RC/IM&t: 16.882-[F9% B RC]0.000-[ B H A RC]0.000= 16.882 M3

-------------- AR NEmoeemeeemee

S /NG (K BA O E B0 RR %) (#EBA O EL451:0.0000)
#4=3,996.05 M*(1-0.0000)=3,996.05 M (3,996.05 M*0.994/1000= 3.9721 T)
#5=72.50 M*(1-0.0000)=72.50 M (72.50 M*1.560/1000= 0.1131 T)
A 0 EL A BRARBR AR 50 7 /N et -~ (R BB 2 R FOBRBA O LE471):

#5=36.00 M (36.00*1.560/1000= 0.0562 T)

M /NEH(EERH+HEEM) = 41413 T
BAR/NET ()= 225.32 M2
SRR /NET = 16.882 M3

PNA21-01-188: P1, &35 W20, SIBFF3E: 8 [X4:+182,Y14:+98] , HEE:
(39.9+40.3+40.3+40.3+40.3+40.3+40.3+40.3+40.3+40.3+40.3+40.3+40.3+40.3+39.9)=603.70 cm, $£=:150.0 cm

#4 FEEF(E14) EEEE(EX) #1150+ =>60cm, E LR 121481+ [FE 69.38
_J fe+4 48] 15+[Q0 FE #$41]18.3= 231.28
X #= (Int((603.7-5-5)/20)+1)/100= 30
EEHER(E14)= 231.28* [ %]30/100= 69.38 M
#4 IKERH(E14E) KT (B X)= 603.7+[51]Int(603.7/(8*100)) 48+ 47 8- | 54.22
_— Ld]O* [ fA]2*37+[FE R @1 4 #-Ld]37+2= 677.70
&= 8/100=8 X
IKEFER(E14)= 677.70* 3 £4]8/100= 54.22 M
#4 EE(EE248) FEEREEX)[FS1B]150+[#E5>60cm, KL {E15]48*1+[{E 69.38
J fei+E45]15+[90 EE #44]18.3= 231.28
X H= Int((603.7-5-5)/20)+1)/100= 30
FEBHER(EE240)= 231.28*[%2£4k]30/100= 69.38 M
#4 IKERR(F248) KT (B X)= 603.7+[51%]Int(603.7/(8*100))*48+[E 47 8- | 54.22
— Ld]O* [ fA]2*37+[FE R @1 s X #-Ld]37+2= 677.70
X 2h=8/100=8 X
IKEF#ER(E240)= 677.70* 32 £4]8/100= 54.22 M
#5 T 1Efh:

JKFEHEEL: Int(603.70/60)= 10
THEHEE: Int(150.00/60)= 2

TEFEE:((20-3*2)+10*2) K H &0 [EE HEEL]2= 6.80 M

EhRETE:
NG

INER 1 B E=(1)39.94%(H)150*2/10000=1.20 M2

KEg:2

INER1: 3 B E=(L)40.34%(H)150*2/10000=1.21 M2

KE::3

INER1: 3B E=(L)40.33%(H)150*2/10000=1.21 M2

KE:4

INER1: 3 B iE=(L)40.34%(H)150*2/10000=1.21 M2

KEE:5

INER1: 3 B iE=(L)40.34%(H)150*2/10000=1.21 M2

KE::6

INER1: 3 B iE=(L)40.34%(H)150*2/10000=1.21 M2

KE:7

INER1: 3 B E=(L)40.34%(H)150*2/10000=1.21 M2

KE::8

INER1: 3 B E=(L)40.34%(H)150*2/10000=1.21 M2

KEE:9

INER1: 3 B E=(L)40.33%(H)150*2/10000=1.21 M2

KE&:10

INER1: 3 B E=(L)40.34%(H)150*2/10000=1.21 M2

KEE:11

INER1: 3 B E=(L)40.34%(H)150*2/10000=1.21 M2

KEg:12

INER 13 B E=(L)40.33%(H)150*2/10000=1.21 M2

KEE:13

INER1: 3 B E=(L)40.34%(H)150*2/10000=1.21 M2

Page 19/29



KREx:14
INER 13 B E=(L)40.33%(H)150*2/10000=1.21 M2
KEx:15
INER1: 3 B E=(L)39.94%(H)150*2/10000=1.20 M2
LA EfEF EARRR/NET: 18.13 M2

¥RR/INET: 18.13-[F9E5$0]0.00-[ 2 BaFA O $0]0.00+[F9 %5 £14%]0.00+[ B Ha B O £14%]0.00-[{8 # 32 $#%40]0.00=18.13 M2

RCEHE:
N
% INER 13 EE=(L)39.94%(H)150%(t)20/1000000=0.120 M3
E%:2
% INER 13 EE=(L)40.34*(H)150%(t)20/1000000=0.121 M3
E%:3
% INER1: 3 B E=(L)40.33%(H)150%(t)20/1000000=0.121 M3
%4
% INER 1B HE=(L)40.34%(H)150%(t)20/1000000=0.121 M3
E%:5
% INER 1B HE=(L)40.34%(H)150%(t)20/1000000=0.121 M3
E%:6
% INER 13 E 5 =(L)40.34*(H)150%(t)20/1000000=0.121 M3
%7
% INER1: 3 EiE=(L)40.34*(H)150%(t)20/1000000=0.121 M3
E%:8
% INER 13 B8 =(L)40.34%(H)150%(t)20/1000000=0.121 M3
E%:9
% INER1: 3 EE=(L)40.33%(H)150%(t)20/1000000=0.121 M3
E%:10
% INER 13 E 5 =(L)40.34*(H)150%(t)20/1000000=0.121 M3
11
% INER 13 E 5 =(L)40.34*(H)150%(t)20/1000000=0.121 M3
%12
% INER1: 3 EiE=(L)40.33%(H)150%(t)20/1000000=0.121 M3
E%:13
% INER1: 3 EiE=(L)40.34*(H)150%(t)20/1000000=0.121 M3
%14
% INER1: 3 EiE=(L)40.33%(H)150%(t)20/1000000=0.121 M3
E%:15
INER 13 EE=(L)39.94%(H)150%(t)20/1000000=0.120 M3
LU EHEF ERC/ME: 1.813 M3
RC-ll_l\ﬁé;:h %813;[FE]”§F95DRC]O.OOO-[E FBI ARC]0.000= 1.813 M3
-------------- ERRCE o1 ) - JN——
SRR /NET(IKBE O LLBIF0BR#R): (#EBF O EL451:0.0000)
#4=247.20 M*(1-0.0000)=247.20 M (247.20 M*0.994/1000= 0.2457 T)
- 14&]5=$(.8Io g|y|*(1-o.0000)=6.80 M (6.80 M*1.560/1000= 0.0106 T)
SRS /NG £5)=0.2563 T
R/ (E)= 18.13 M2
BEL/NEH =1.813 M3

PNA21-01-#/8: P1, $&£88: W20, i@ 5 3 [X3:-202,Y15:+35] , #&&: (16.3+63.0)=79.30 cm, #&&:150.0 cm

fé+15§4]15+[90 EE i $47]18.3= 231.28
X #= (Int((79.3-5-5)/20)+1)/100= 4
FE GRS 14)= 231.28 X #]4/100= 9.25 M

#4 J HEEH(F14) HERE(EX)[F 1] 150+[&5>60cm, KA E1#]48*1+[IE

9.25

#4 K (E148) KRR (BX)= 793+ H]Int(79.3/(8*100))*48+ [ 47 #-Ld]
_— 0[R2+ 37+[BE R T HE B 4 8-Ld]37*2= 153.30

X #=8/100= 8 X

K 4 E (5 148)= 153.30*[3#]8/100= 12.26 M

12.26

1

(5248) HERE(EX)[F=18]150+[#E=>60cm, E &R 1E]48* 1+
{e+E86]15+[90 E E4m]18.3= 231.28

K 8= Int((79.3-5-5)/20)+1)/100= 4

FHEGER(E248)= 231.28* [ #]4/100= 9.25 M

o

#4 _J EE]

9.25

#4 K (B248) KRR (BX)= 79.3+[fH]Int(79.3/(8*100))*48+ [ 47 #-Ld]
_— O*[RE]12*37+[BE R T B 4 8-Ld]37*2= 153.30

X #=8/100= 8 X

K 48 (55 248)= 153.30* [ #]8/100= 12.26 M

12.26

#5 T 1Efn:
JKEHEE: Int(79.30/60)= 1
FHEHE: Int(150.00/60)= 2
TEMEE:((20-3*2)+10*2)* /K FHE &1 [ EE HEE]2= 0.68 M
EhRETE:
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KE:1
INER1: 3 B E=(L)16.28%(H)150*2/10000=0.49 M2
KEg:2
INER1: 3 B 5=(L)63.04%(H)150*2/10000=1.89 M2
LI EfEF ZEEhR/INET: 2.38 M2
Eﬁﬁfgt 2.38-[F9%540]0.00-[ B B3 B O $0]0.00+[F9 %5 31 45]0.00+[ B3 Fa B 0 $14%]0.00-[81 32 $#4010.00=2.38 M2
RCEt&E:
N
INER1: 3 E 5 =(L)16.28%(H)150%(t)20/1000000=0.049 M3
KEg:2
INER 13 B E=(L)63.04*(H)150%(t)20/1000000=0.189 M3
L E#EFERC/MET: 0.238 M3
RC/IVat: 0.238-[F9%5 B O RC]0.000-[ & Fa B A RC]0.000= 0.238 M3
-------------- SHEHER -
AR/ INET(IKBE DO LL B0 BR#2): (#ERF O EL451:0.0000)
#4=43.03 M*(1-0.0000)=43.03 M (43.03 M*0.994/1000= 0.0428 T)
#5=0.68 M*(1-0.0000)=0.68 M (0.68 M*1.560/1000= 0.0011 T)
AR /NET(EER) =0.0438 T
HRR/NET(E )= 2.38 M2
B L/NE =0.238 M3

PNA21-01-#/8: P1, $&K88: W15, LI 5 4 [X4:+236,Y15:+36] , ¥&&: (124.3+67.5)=191.80 cm, #&:150.0
cm

#4 _J HEE (5 140) HE R E(EX)[FE18]150+[{85>60cm, E AR HE]48* 1+ [ 30.07

e+ 4471 5+[90 FE 4 $4]18.3= 231.28
X #= (Int((191.8-5-5)/15)+1)/100= 13
FEEGEE(E140)= 231.28 % #]13/100= 30.07 M

#4 K (E148) KERE(BEX)= 191.8+[15H]Int(191.8/(8*100))*48+[E 1F - 33.98
I Ld]1*[Mm]2*37+[38 B AT 54 8-Ld]37*2= 339.80
X 8= 10/100= 10 X

KEE R (E140)= 339.80*[322£]10/100= 33.98 M

fea+4 4671 5+[90 FE 4 $4]18.3= 231.28
X H= Int((191.8-5-5)/15)+1)/100= 13
FE AR (F248)= 231.28* [ #]13/100= 30.07 M

#4 J HE 7 (324) HERE(EX)[F 1] 150+[&5>60cm, KA E1#]48*1+[IE 30.07

#4 IKF R (5248) KERE(EXR)= 191.8+[H15]Int(191.8/(8*100))*48+[4 1 24~ 33.08
- Ld]1*[Mi[1]2*37+[58 R A fE 41 #1-Ld]37*2= 339.80
X #=10/100=10 X%

KR (F248)= 339.80*[32£4]10/100= 33.98 M

#5 AEMAm:
LA AR [fES]150 [E 78" 1*[32]*4/100= 6.00 M
#5 T 1E8h:
JKFEHEEL: Int(191.80/60)= 3
THEHEE: Int(150.00/60)= 2
TEREE:((15-3*2)+10*2) /K FHEE 3 [EEHH]2=1.74 M
EARETE:
NG
INER1: B E=(L)124.30%(H)150*2/10000=3.73 M2
KEg:2
INER1: 3 B E=(L)67.54%(H)150*2/10000=2.03 M2
LA B F BB/ 5.76 M2
EH&;};: 5.76-[F9%5#0]0.00-[ & H B A 40]0.00+[F4 25 £14%]0.00+[ B Fa B 1 $$4&]0.00-[{81 F 32 $411]0.00=5.76 M2
RCEtE&E:
N
INER 1 B 1E=(L)124.30%(H)150%(t)15/1000000=0.280 M3
KEE:2
INER 1 B HE=(L)67.54%(H)150%(t)15/1000000=0.152 M3
LI EEFERC/MET: 0.432 M3
RC/I\at: 0.432-[F9%5 B8 0 RC]0.000-[ & F B A RC]0.000= 0.432 M3
-------------- FHEBERDNG -
SR /NET (K BA O E B0 RR %) (#EBA D EL451:0.0000)
#4=128.09 M*(1-0.0000)=128.09 M (128.09 M*0.994/1000= 0.1273 T)
#5=1.74 M*(1-0.0000)=1.74 M (1.74 M*1.560/1000= 0.0027 T)
B O B A PR R AR SR 5 /NET - (AR ER 2 A 0B A O LE451):
#5=6.00 M (6.00*1.560/1000= 0.0094 T)
S /NEH(EERH+HRM) = 0.1394 T
ER/NETH(E )= 5.76 M2
iBEEL/MET = 0.432 M3
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PNA21-01-t&f&: P1, f54L5%: W15, GLE F3%: 7 [X4:+101,Y14:-132] , & (231.7+37.5+2562.5)=2831.70 cm, &

=:150.0 cm
#4 EE(E14) EEREEX)FESIE]150+[E5>60cm, EERHEHE]48*1+[1E 437.13
J {i+8 $0]15+[90 & & $7]18.3= 231.28
X #= (Int((2831.7-5-5)/15)+1)/100= 189
TEFER(E14H)= 231.28*[% £4]189/100= 437.13 M
#4 KEFH(FE14E) JKERE(BEX)= 2831.7+[###]Int(2831.7/(8*100))*48+[ & 17 316.07
E_— - d)2* [MR]2*37+[BE R ATHE NG 4 88-Ld]37*1= 3,160.70
X #=10/100=10 X
KFEFHIEE(E148)= 3,160.70*[3 2]10/100= 316.07 M
#4 EEH(E24) HERE(EX)[F=1E]150+HE=>60cm, E AR 1E]48* 1+ 437.13
_J i+ $0]15+[90 F & $7]18.3= 231.28
X 8= Int((2831.7-5-5)/15)+1)/100= 189
T E R (F240)= 231.28*[ X #8]189/100= 437.13 M
#4 JK R (5E248) KERE(EX)= 2831.7+[#&1E]Int(2831.7/(8*100))*48+ [ 316.07
— - d)2* [MR]2*37+[BE R AT NS 4E 88-Ld]37*1= 3,160.70
X #=10/100=10 X
KFEERE (F24H)= 3,160.70*[3 2]10/100= 316.07 M

#5 AAlBtHARD:
LEEARE: (& =]150* & 57800 2*[32]*4/100= 12.00 M
#5 TERA:
JKFEHEEL: Int(2831.70/60)= 47
FHEHEEL: Int(150.00/60)= 2
THEFEE:((15-3*2)+10* 2 K P HE 4T [EE HEER]2= 27.26 M

EARETE:
N
INER 1 EE=(L)231.72%(H)150*2/10000=6.95 M2
KEg:2
INER 13 E i =(L)37.50%(H)150*2/10000=1.13 M2
KEE:3

INER 13 E i =(L)2562.50%(H)150*2/10000=76.88 M2

LI E & X ZEHRRR/NET: 84.95 M2

B/ EH:15%150%1/10000=0.23 M2
*ﬁé@g: 85.18-[FAE540]0.00-[ B F3 B8 01 41]0.00+[ P9 25 £:4&10.00+[ B B B8 O #14£]0.00-[{81 & 35 $401]0.00=85.18 M2
RC&ET&:

N

INER1: 3B E=(L)231.72%(H)150%(t)15/1000000=0.521 M3
KEg:2

INER 13 E 8 =(L)37.50%(H)150%(t)15/1000000=0.084 M3
KE:3

INER B HE=(L)2562.50%(H)150%(t)15/1000000=5.766 M3
LA EHEF ERC/MET: 6.371 M3
RC/I&t: 6.371-[F9%5 B O RC]0.000-[ B B O RC]0.000= 6.371 M3
-------------- STEAERDNE -
SR /INET(IKBE O LLBIF0BR#R): (#EBF O EL451:0.0000)
#4=1,506.39 M*(1-0.0000)=1,506.39 M (1,506.39 M*0.994/1000= 1.4974 T)
#5=27.26 M*(1-0.0000)=27.26 M (27.26 M*1.560/1000= 0.0425 T)
Bl O EL A BRARBR AR 80 5 /Nt - (R BB 2 R FOBRBA O EE431):
#5=12.00 M (12.00*1.560/1000= 0.0187 T)
SR/ NEH(EE M +EEA) = 1.5586 T
hR/NEH(E)= 85.18 M2
EsEt /et =6.371 M3

PNA21-01-#/8: P1, $&L88: W15, fiE 5 10 [X4:-192,Y5:+25] , #&&: (150.0)=150.00 cm, 4&&:140.0 cm

fé+15 4] 15+[90 EE i $47]18.3= 221.28
X #= (Int((150-5-5)/15)+1)/100= 10
FEEGEE(E14)= 221.28 % #]10/100= 22.13 M

#4 J EEMH(E14) BHERE(EX)[FE1E]140+[&5>60cm, KA 1148 1+[IE 22.13

#4 KEFH(E14R) KEERE(BEX)= 150+[15]Int(150/(8*100))*48+[E 7 #1-Ld] 20.16
— O*[MiRI]2*37+[EE AT iS4 8k-Ld]37*2= 224.00
X 8=9/100=9 %

KEFEE(E140)= 224.00* 3 £4]9/100= 20.16 M

1

(E248) = R (B )[4 7515140+ (8 >60cm, EE ER IS 11481+ [ 2213
fea+4 481 5+[90 FE & $4]18.3= 221.28

X #= Int((150-5-5)/15)+1)/100= 10
EEGEE(E248)= 221.28* X #]10/100= 22.13 M

o

#4 _J EE]
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#4 KRG (E248) KTEERE(BER)= 150+[E]Int(150/(8*100))*48+[# 1 #-Ld]
_ O*[MRIA]2*37+[BE B AT EAE B-Ld]37+2= 224.00

X #=9/100= 9 X

KR4 R (248)= 224.00*[3#]9/100= 20.16 M

20.16

#5 TEfn:
JKFEHEEL: Int(150.00/60)= 2
THEHE: Int(140.00/60)= 2
TERREE:((15-3*2)+10*2) /K FHEE 2 [EEHEE]2= 1.16 M
EARETE:
N
INER1: B E=(L)150.00%(H)140*2/10000=4.20 M2
LA B F BB/ 4.20 M2
EH&;};: 4.20-[F9%5+0]0.00-[ & H B O #1]0.00+[P9 25 £4&]0.00+[ & H1 B O $45]0.00-[81 & 3 $#40]0.00=4.20 M2
RCEt&E:
NG
INER 1 B 15=(L)150.00%(H)140%(t)15/1000000=0.315 M3
LI EHEFERC/MET: 0.315 M3
RC/INet: 0.315-[F9%5 B 0 RC]0.000-[ & B A RC]0.000= 0.315 M3
-------------- SHERER DR -
AR/ ET(1KBA O L FI30BR#): (1563 0 e 451:0.0000)
#4=84.58 M*(1-0.0000)=84.58 M (84.58 M*0.994/1000= 0.0841 T)
#5=1.16 M*(1-0.0000)=1.16 M (1.16 M*1.560/1000= 0.0018 T)
AR /NEH(EER) =0.0859 T
ERR/NETH ()= 4.20 M2
BB /NG =0.315 M3

PNA21-01-#£f&: P1, #&4L5%: W15, SIE 5% 32 [X11:-110,Y5:-44] , & EK:

(1253.1+1488.7+14.4+18.3+18.3+18.3+18.3+18.3+18.3+18.3+18.3+18.3+18.3+18.3+18.3+18.3+18.3+104.1+104

1+104.1+104.1+104.1+104.1+104.1+104.1+104.1+104.1+104.1+104.1+66.7)=4328.30 cm, #&=:30.

F2:-155cm

Ocm &

#4 J EEH(FE1H) EEREEX)[F 515 AETE[30+ [T +E )15+ [0 E Ea)
18.3= 63.28
X #= (Int((4328.3-5-5)/15)+1)/100= 288

HE R (F14)= 63.28*[X $]288/100= 182.26 M

182.26

#4 KERH(E14E) KT (B X)= 4328.3+[#51]Int(4328.3/(8*100))*48+ [
_— B-Ld]1*[E]2*37+[BE R AR B B-Ld]37+2= 4,716.30

X = 2/100=2 X

KT RHEE (F148)= 4,716.30* [ 8(]2/100= 94.33 M

94.33

1

o

(56248) BEEREEX)F 15 A S E]30+[FE -+ 81]15+[00 FE & 4]
18.3= 63.28

X #= Int((4328.3-5-5)/15)+1)/100= 288

TR E(E248)= 63.28* 3 £1]288/100= 182.26 M

#4 _J EES

182.26

#4 JKF A (5E248) JKERE(BEX)= 4328.3+[#1%]Int(4328.3/(8*100))*48+[ £
- B-Ld]1*[Ram]2*37+[EE R i AE 4T 88-Ld]37*2= 4,716.30
X#=2/100=2 X%

KEFHHER(5E240)= 4,716.30* [ %1]2/100= 94.33 M

94.33

#5 fAEEAR:
LB AR [(fE=]30 &8 1*[X]*4/100= 1.20 M
#5 T1EfA:
K HEE: Int(4328.30/60)= 72
= E B8 Int(30.00/60)= 0
TEMERE:((15-3*2)+10*2)* /K FHE 8] 72* [ R E #E24]0= 0.00 M
EhREE:
KREZ:A
INER 1 EHE=(L)1253.08%(H)30%2/10000=7.52 M2
KEZ:2
INER 1 B E=(L)1488.72%(H)30%2/10000=8.93 M2
KEZ:3
INER 135 =(L)14.35%(H)30*2/10000=0.09 M2
KEx:4
INER1: 3 EE=(L)18.33%(H)30*2/10000=0.11 M2
KEZ:5
INER1: 3 EE=(L)18.32%(H)30*2/10000=0.11 M2
KEZ:6
INER1: 3 EE=(L)18.32%(H)30*2/10000=0.11 M2
RER:7
INER1: 355 =(L)18.33%(H)30*2/10000=0.11 M2
KEZ:8
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INER1: 35 5=(L)18.33%(H)30*2/10000=0.11 M2

KEE:9

INER1: 3 EE=(L)18.33%(H)30*2/10000=0.11 M2
ﬁg/'llcﬁ)% 2 EE=(L)18.32*(H)30%2/10000=0.11 M2
ﬁg};\}é% 2 EE=(L)18.33*(H)30*2/10000=0.11 M2
ﬁgﬂ@% 2 EE=(L)18.33*(H)30%2/10000=0.11 M2
ﬁgﬂ@% 2 EE=(L)18.32*(H)30*2/10000=0.11 M2
i5§)11\é§1 2 EE=(L)18.32*(H)30*2/10000=0.11 M2
jc;g/'ll?% 2 EE=(L)18.33*(H)30*2/10000=0.11 M2
jc;g/'ll?% 2 EE=(L)18.33*(H)30*2/10000=0.11 M2
ﬁgﬂ@%:#%‘H.%:(Ln8.31*(H)3o*2/1oooo=o.11 M2
ﬁgﬂ@% 2 EE=(L)104.13*(H)30*2/10000=0.62 M2
ﬁgﬂ@% 2 EE=(L)104.11*(H)30*2/10000=0.62 M2
ﬁg/'lz\cﬁ)% 2 EE=(L)104.11*(H)30*2/10000=0.62 M2
ﬁg/'lz\;% 2 EE=(L)104.11*(H)30*2/10000=0.62 M2
ﬁg/'lz\%% 2 EE=(L)104.11*(H)30*2/10000=0.62 M2
ﬁg/'lz\?% 2 EE=(L)104.11*(H)30*2/10000=0.62 M2
jc&/'lz\é% 2 EE=(L)104.11*(H)30*2/10000=0.62 M2
jc&/'lz\?% 2 EE=(L)104.11*(H)30*2/10000=0.62 M2
jc&/'lz\?% 2 EE=(L)104.11*(H)30*2/10000=0.62 M2
jc&/'lz\é% 2 EE=(L)104.11*(H)30*2/10000=0.62 M2
jc&/'lz\g% 2 EE=(L)104.11*(H)30*2/10000=0.62 M2
ii}lzgw 2 EE=(L)104.11*(H)30*2/10000=0.62 M2

INER1: 3 B 5 =(L)66.72%(H)30*2/10000=0.40 M2
 LLE#EE ZAERR/NET: 25.97 M2
#ﬁé@é};ﬁ 25.97-[P9E§41]0.00-[ B E3BH 01 $0]0.00+[P9 85 £14%]0.00+[ B 1 5 A £$4&]0.00-[ {81 7 3 #40]0.00=25.97 M2
RCET&E:

N

INER1: 3B E=(L)1253.08%(H)30%(t)15/1000000=0.564 M3
KEg:2

INER 13 B 5 =(L)1488.72%(H)30%(t)15/1000000=0.670 M3
KEZ:3

INER 13 E B =(L)14.35%(H)30%(t)15/1000000=0.006 M3
KEx:4

INER1: 3 EE=(L)18.33%(H)30%(t)15/1000000=0.008 M3
KEZ:5

INER 13 EE=(L)18.32%(H)30%(t)15/1000000=0.008 M3
KEZ:6

INER 13 EE=(L)18.32%(H)30%(t)15/1000000=0.008 M3
RER:7

INER 13 EE=(L)18.33%(H)30%(t)15/1000000=0.008 M3
KEZ:8

INER 13 EE=(L)18.33%(H)30%(t)15/1000000=0.008 M3
KEZ:9

INER 13 EE=(L)18.33%(H)30%(t)15/1000000=0.008 M3
KE&:10

INER 13 EE=(L)18.32%(H)30%(t)15/1000000=0.008 M3
RE:11

INER 13 B E=(L)18.33%(H)30%(t)15/1000000=0.008 M3
KEZ:12

INER 135 E=(L)18.33%(H)30%(t)15/1000000=0.008 M3
KE&:13
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INER 135 5=(L)18.32%(H)30%(t)15/1000000=0.008 M3
ﬁg/:f\é% H 5 1E=(L)18.32*(H)30%(t)15/1000000=0.008 M3
ﬁg/:ll?% 45 1E=(L)18.33*(H)30%(t)15/1000000=0.008 M3
ﬁg/:ll?% 45 1E=(L)18.33*(H)30%(t)15/1000000=0.008 M3
ﬁg/:lg% H 5 1E=(L)18.31*(H)30%(t)15/1000000=0.008 M3
ﬁg/:l@% HEHE=(L)104.13*(H)30%(t)15/1000000=0.047 M3
jc;g/:ll?% H 5 1E=(L)104.11*(H)30%(t)15/1000000=0.047 M3
jc;g/:lz\cﬁ)% H S E=(L)104.11%(H)30%(t)15/1000000=0.047 M3
ﬁg/:lz\;% H 5 1E=(L)104.11*(H)30%(t)15/1000000=0.047 M3
ﬁg/:lz\%% H 5 1E=(L)104.11*(H)30%(t)15/1000000=0.047 M3
ﬁg/:lz\?% HEHE=(L)104.11*(H)30%(t)15/1000000=0.047 M3
ﬁg/:lz\é% H 5 1E=(L)104.11*(H)30%(t)15/1000000=0.047 M3
ﬁg/:lz\?% H 5 1E=(L)104.11*(H)30%(t)15/1000000=0.047 M3
ﬁg/:lz\?% HEHE=(L)104.11%(H)30%(t)15/1000000=0.047 M3
ﬁg/:lz\é% H 5 1E=(L)104.11*(H)30%(t)15/1000000=0.047 M3
k5§;12\2§1 H 5 1E=(L)104.11*(H)30%(t)15/1000000=0.047 M3
jc&/:lz\g% H S HE=(L)104.11*(H)30%(t)15/1000000=0.047 M3
jc&/:ls\cﬁ)% HEE=(L)66.72*(H)30%(t)15/1000000=0.030 M3

LI E#EEZERC/INET: 1.948 M3

RC/IV&t: 1.948-[F9& R O RC]0.000-[ B B O RC]0.000= 1.948 M3

BRI

S /NG (K BA O Ee B0 RR %) (#8BA O EL451:0.0000)
#4=553.16 M*(1-0.0000)=553.16 M (553.16 M*0.994/1000= 0.5498 T)
A 0 EL A PR AR SR AR B0 50/ N Bt - (R BB 2 R FOBRBA O LE471):

#5=1.20 M (1.20*1.560/1000= 0.0019 T)

AR/ NEH(EE M +EEA) = 05517 T

BAR/NET(E )= 25.97 M2
SRR /NET = 1.948 M3

PNA21-01-#&&: P1, #&4X55%: W15, (I & F5E:
=2368.20 cm, $&=:30.0 cm ,578:-155cm

33 [X10:+107,Y5:+96] , f&&: (531.9+1596.4+98.4+104.1+37.4)

#4

J

BEE(514)

8 7 (B 30 M, B RZ130+ (AL i+ 40015+ [00RE 48]
18.3= 63.28

X #= (Int((2368.2-5-5)/15)+1)/100= 158
EEGER(FE14)= 63.28" X 2]158/100= 99.99 M

99.99

#4

JKFEG (S 148)

KB (B X)= 2368.2+[141]Int(2368.2/(8100))* 48+t
B-Ld]1*[fAE2*37+([EE R AT HEME AT 8-Ld]37+2= 2,612.20
XH=2/100=2 X

KR (F140)= 2,612.20 [ #]2/100= 52.24 M

52.24

#4

EE]

&
i

(5E248)

EERE(EX)FEIE ASEI30+(EMH+E80]15+[00F Eea)
18.3= 63.28

X H= Int((2368.2-5-5)/15)+1)/100= 158

EEFRR(F2M)= 63.28*[%2£]158/100= 99.99 M

99.99

#4

JKF A7 (5 248)

KB (B X)= 2368.2+[141]Int(2368.2/(8100))*48+[
B-Ld]1*[fAE]2*37+([EE R AT HEME AT 8-Ld]37+2= 2,612.20
XH=2/100=2 X

KSR (F248)= 2,612.20[X #]2/100= 52.24 M

52.24

#5 ARRtEAR:
LEEARE: (S =30 & 8k 1*[X]*4/100=1.20 M

#5 T 1Efh:

JKEHES: Int(2368.20/60)= 39
= E B8 Int(30.00/60)= 0

Page 25/29



TEREE:((15-3*2)+10*2)* /K FHEER]39* [ E HEZ4]0= 0.00 M
EARETE:

N

INER 13 B =(L)531.92%(H)30*2/10000=3.19 M2
KEg:2

INER1: 3 EE=(L)1596.40%(H)30*2/10000=9.58 M2
KEE:3

INER1: 3 E 5 =(1)98.38%(H)30*2/10000=0.59 M2
KEg:4

INER1: 3B HE=(L)104.11*(H)30*2/10000=0.62 M2
KE:5

INER 13 B8 =(L)37.38%(H)30*2/10000=0.22 M2

LA EfEF EARRR/NET: 14.21 M2

AR/INET: 14.21-[F955$0]0.00-[ 2 BBFA O $0]0.00+[F9 %5 £14%]0.00+[ B Ha B O £14%]0.00-[8 # 32 $#%40]0.00=14.21 M2

RCEHE:
N
INER 1B HE=(L)531.92%(H)30%(t)15/1000000=0.239 M3
KEg:2
INER 13 B 5 =(L)1596.40%(H)30%(t)15/1000000=0.718 M3
KEE:3
INER 1 B HE=(L)98.38%(H)30%(t)15/1000000=0.044 M3
KEg:4
INER1: 3 E=(L)104.11*(H)30*(t)15/1000000=0.047 M3
KE:5
INER 13 B 5 =(L)37.38%(H)30%(t)15/1000000=0.017 M3
LA EHEF ERC/MET: 1.066 M3
RC/I\at: 1.066-[F9%5 B O RC]0.000-[ B F B ARC]0.000= 1.066 M3
mommemmemee S BAE RN B o
SR /NET(IKEBE O LLBIF0BR#R): (#EBF O EL451:0.0000)
#4=304.46 M*(1-0.0000)=304.46 M (304.46 M*0.994/1000= 0.3026 T)
B O B AR PR AR R AR AR 5 /N ET (A B D S s 0 BREA O e 451 ):
#5=1.20 M (1.20*1.560/1000= 0.0019 T)
/AT (EERH+HH®RM) = 0.3045 T
/N (E)= 14.21 M2
B L/NET = 1.066 M3

PNA21-01-48/8: P1, #8485 W15, SIBRESE: 11 [X4:+44.Y0:+176] , &5 (838.0+337.5)=1175.50 cm
cm 5 718:-75cm

 E=:15.0

18.3= 48.28
X #= (Int((1175.5-5-5)/15)+1)/100= 78
FEEGEE(E14)= 48.28* % £]78/100= 37.66 M

#4 J EEMH(F148) BEEREEX) BB ABE]15+ [T H+E80]15+[90F &)

37.66

4 KFE(EE) KT (B 3)= 1175 5+[&HE]Int(1175.5/(8"100))*48+ [ 7
— B-Ld|1*[MR12*37+E R AT B B-LA]37+0= 1,297.50
EH=1/100= 1 %

KT 548 5 (3 148)= 1,297.50*[FB1/100= 12.98 M

12.98

3

i

2#8) BEEREEX)HS1E ASTE]15+[EMHE+E 815+ [0 E £ )
18.3= 48.28

X #= Int((1175.5-5-5)/15)+1)/100= 78

T AR (F24)= 48.28*[3 4]78/100= 37.66 M

(

&

#4 J EE]

37.66

#4 KT/ (E240) KEERE(EX)= 11755+ ]Int(1175.5/(8*100))*48+ [
— B-Ld]1*[fAE]2*37+([B8 R AT HEME 4T 8-Ld]37*0= 1,297.50
XH=1/100= 1%

IKE M E (F248)= 1,297.50*[3% £4]1/100= 12.98 M

12.98

#5 AlERAm:
LEEARE: Ea]15 & E*1*[X]*4/100= 0.60 M
#5 T 1Efh:
JKTEHEE: Int(1175.50/60)= 19
FHEHEE: Int(15.00/60)= 0
TERREE:((15-3*2)+10*2)* /K T HEER]19* [ E HE24]0= 0.00 M
EARETE:
N
INER1: 3 B 5=(L)838.02%(H)15*2/10000=2.51 M2
RE:2
INER1: 3 B iE=(L)337.49%(H)15*2/10000=1.01 M2
LI B+ BN 3.53 M2
B/ EE:15%15%2/10000=0.05 M2
EH}@;};: 3.57-[F9E5400]0.00-[ & Fa B 01$00]0.00+[ P9 &5 $4%]0.00+[ E £ 5 O £44]0.00-[{8I 7 32 #%410]0.00=3.57 M2
RCET&E:
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KE:1

INER 1 B HE=(L)838.02%(H)15%(t)15/1000000=0.189 M3

KEg:2

INER BB =(L)337.49%(H)15%(t)15/1000000=0.076 M3

LI Ef&EFZERC/MET: 0.264 M3

RC/IM&t: 0.264-[F9% R O RC]0.000-[ B BB O RC]0.000= 0.264 M3

-------------- EHEAER /G

S /NG (IKBA O E B0 RR % ): (#5BF O EL451:0.0000)
#4=101.27 M*(1-0.0000)=101.27 M (101.27 M*0.994/1000= 0.1007 T)

B O B A P 5 A B
#5=0.60 M (0.60*1.560/1000= 0.0009 T)

A/ NEH(EEMH+EEA) = 01016 T

BAR/NET(E )= 3.57 M2
R /NET = 0.264 M3

5 INEH (R8RS

> R HIRR B O L)

PNA21-01-#/8: P1, $&1X58: W20, fiE 5 15 [X5:+115,Y16:-225] , f&&:
(67.7+68.4+68.4+68.4+68.4+68.4+68.4+68.4+68.4+68.4+68.4+68.4+68.4+68.4+75.0)=1031.90 cm, §&=5:150.0

cm

#4

J

HEM(FE148)

BEREEX)FEE150+[Em>60cm, EAFE #1481+
{i+E6 66]15+[90 EE £ £47]18.3= 231.28

X 8= (Int((1031.9-5-5)/20)+1)/100= 52
BEGER(E14)= 231.28*[X £]52/100= 120.27 M

120.27

#4

KEFH(E14H)

KERE(BEX)= 1031.9+[f21]Int(1031.9/(8*100))*48+[ & 7
B-Ld]0*[f]2*37+[B8 R #T 4 #-Ld]37*2= 1,153.90

X %= 8/100=8 %

KTEHHER(E148)= 1,153.90* [ #]8/100= 92.31 M

92.31

#4

$

BU:I?

TEA(ZE24)

&

EERE(EX)[FES1B]150+[#E5>60cm, ELHHE 151481+
{i+E $67]15+[90 EE E £47]18.3= 231.28

X #= Int((1031.9-5-5)/20)+1)/100= 52

FHE G R (E240)= 231.28* 3 £1]52/100= 120.27 M

120.27

#4

JKFEFH(FE240)

KFRE(BEX)= 1031.9+[51#]Int(1031.9/(8*100))*48+[E 7
H-Ld]0*[MAI]2*37+[BE E AT RS A 8-Ld]37+2= 1,153.90

X #=8/100=8 X

KRR (FE248)= 1,153.90*[% #]8/100= 92.31 M

92.31

#5 T 1Efh:

JKFHEE: Int(1031.90/60)= 17
FEEHE: Int(150.00/60)= 2
TEFABE ((20-3*2)+10*2)* K FEHE & 7 [FEEH88]2= 11.56 M

HERRETE:
KEE:1

INER1: 358 =(L)67.74%(H)150*2/10000=2.03 M2

KEE:2

INBE 1 B HE=(L)68.43%(H)150%2/10000=2.05 M2

KEE:3

INEE 1 B HE=(L)68.43%(H)150%2/10000=2.05 M2

KE4

INER1: 3 =8 =(L)68.42%(H)150*2/10000=2.05 M2

KE::5

INEE 1 B HE=(L)68.43%(H)150%2/10000=2.05 M2

KE::6

INEE 1 B HE=(L)68.43%(H)150%2/10000=2.05 M2

KE7

INEE1: B HE=(L)68.43%(H)150%2/10000=2.05 M2

KE::8

INEE: B HE=(L)68.43%(H)150%2/10000=2.05 M2

KE::9

INEE 1 B HE=(L)68.43%(H)150%2/10000=2.05 M2

KE&:10

INEE 1 B HE=(L)68.43%(H)150%2/10000=2.05 M2

REE:11

INEE: B HE=(L)68.43%(H)150%2/10000=2.05 M2

KE&:12

INBE: B HE=(L)68.43%(H)150%2/10000=2.05 M2

KE&:13

INEE: B HE=(L)68.43%(H)150%2/10000=2.05 M2

KEx:14

INEE 1 B HE=(L)68.43%(H)150%2/10000=2.05 M2

KE&:15

INER1: 3 =8 =(L)74.99%(H)150*2/10000=2.25 M2
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LU EHE F EE AR/ ET: 30.97 M2

¥RR/INVET: 30.97-[F9E5$0]0.00-[ 2 BaFA O $0]0.00+[F9 %5 £14%]0.00+[ & Ha B O £14%]0.00-[{81 # 32 $#%40]0.00=30.97 M2

RCitE

ﬁg/'llﬁ% R EE=(L)67.74*(H)150%()20/1000000=0.203 M3
ﬁg/'lz\ﬁ% 2 EE=(L)68.43*(H)150%(t)20/1000000=0.205 M3
ﬁg/'l?iﬁ% 2 EE=(L)68.43*(H)150%(t)20/1000000=0.205 M3
ﬁg/'f\ﬁ% 2 EE=(L)68.42*(H)150%(t)20/1000000=0.205 M3
jc;gﬁﬁ% 2 EE=(L)68.43*(H)150%(t)20/1000000=0.205 M3
jc;g/'lblﬁ% 2 EE=(L)68.43*(H)150%(t)20/1000000=0.205 M3
ﬁg/'r\ﬁ% EEE=(L)68.43*(H)150%(t)20/1000000=0.205 M3
ﬁg/'ﬁﬁ% 2 EE=(L)68.43*(H)150%(t)20/1000000=0.205 M3
ﬁg/'lg\ﬁ% 2 EE=(L)68.43*(H)150%(t)20/1000000=0.205 M3
jc;g/'llcﬁ)% EEE=(L)68.43*(H)150%(t)20/1000000=0.205 M3
ﬁg};\é% 2 EE=(L)68.43*(H)150%(t)20/1000000=0.205 M3
ﬁgﬂ@% 2 EE=(L)68.43*(H)150%(t)20/1000000=0.205 M3
ﬁgﬂ@% 2 EE=(L)68.43*(H)150%(t)20/1000000=0.205 M3
ﬂgﬂ@% 2 EE=(L)68.43*(H)150%(t)20/1000000=0.205 M3
jc&/:f\?% 2 EE=(L)74.99*(H)150%()20/1000000=0.225 M3
LI E#EFEERC/INET: 3.097 M3

-------------- HEER NG

RC/IM&t: 3.097-[F1% R O RC]0.000-[ B HEA O RC]0.000= 3.097 M3

S /NG (IKBA O Ee B0 RR %) (#8BA O EL451:0.0000)
#4=425.16 M*(1-0.0000)=425.16 M (425.16 M*0.994/1000= 0.4226 T)
#5=11.56 M*(1-0.0000)=11.56 M (11.56 M*1.560/1000= 0.0180 T)
SAR/INET(EER) = 04406 T

BAR/NVET(E)= 30.97 M2
SRR /NET = 3.097 M3

PNA21-01-#/8: P1, $&L88: W15S, fBFFaE: 1 [X1:+235,Y8:+163] , §&£&: (530.0)=530.00 cm, #&:80.0 cm , &

F2:-80cm
#4 J EEEH(E14E) EEREEX)[F 15 ASE]80+[FE 6+ £7]15+[00 F £ £4] 39.65
18.3= 113.28
X = (Int((530-5-5)/15)+1)/100= 35
BEGEE(E14)= 113.28* 32 #]35/100= 39.65 M
#4 IKFRH(E148) IKFEE (B )= 530+[{2#£]Int(530/(8*100))*48+[ 1 #1-Ld] 26.50
E— O*[FAA1]2*37+[EE E #iiE i 4E #-Ld]37*0= 530.00
X =5/100=5 X%
IKEFH#ER(E140)= 530.00*[3Z £4]5/100= 26.50 M
#4 J EE(EE248) FEEREEX) (#5158 5F8]80+[ 4+ §7]15+[00 B & 4] 39.65
18.3= 113.28
X H= Int((530-5-5)/15)+1)/100= 35
FEBHER(FE21H)= 113.28* [ £4]35/100= 39.65 M
#4 IKEEH(FE248) KFEEE (B X)= 530+[{2#£]Int(530/(8*100))*48+[ 1 #1-Ld] 26.50
E— O*[FAA1]2*37+[EE E #iiE i 4E #-Ld]37*0= 530.00
X &=5/100=5 X%
IKEFH#ER(5E240)= 530.00*[3Z £4]5/100= 26.50 M
#5 T 1Efh:

JKFEHEEL: Int(530.00/60)= 8
FEHEEL: Int(80.00/60)= 1
TEERERE:((15-3"2)+10*2) K E B B8 [ E H 8]1=2.32 M
EARETE:
RE:1
INER1: 3 B 5=(L)530.00%(H)80*1/10000=4.24 M2

VLS T ZARMR/INE: 4.24 M2
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HAIFE /N E1:15%80%2/10000=0.24 M2
EH&J;J;# 4.48-[F9%540]0.00-[ B H B O #1]0.00+[P9 %5 £14&]0.00+[ B 1 B O $14%]0.00-[8I E 3 $#£40]0.00=4.48 M2
RCEHE&E:
REE:A
INER 13 B HE=(L)530.00%(H)80%(t)15/1000000=0.636 M3
LI EHEEERC/NET: 0.636 M3
RC/|V&t: 0.636-[F9%5R 0 RC]0.000-[ B F1 B O RC]0.000= 0.636 M3
-------------- E R K- 7] |\ R
AR/ NET(IKREI O L B0 BR#R): (#&RF O LL451:0.0000)
#4=132.30 M*(1-0.0000)=132.30 M (132.30 M*0.994/1000= 0.1315 T)
#5=2.32 M*(1-0.0000)=2.32 M (2.32 M*1.560/1000= 0.0036 T)
MAR/INEH(EEM)=0.1351T
RR/NET(E )= 4.48 M2
SRt /NET = 0.636 M3

PNA21-01-1&J8: P1, $E4L 58 W15S, (B RESE: 2 [X2:+165,Y8:+163] , ¥ 5 (430.0)=430.00 cm, §&:80.0 cm &
F2:-80cm

#4 _J T|EH(E1H) BEEREEX)HE1E ASTE80+[ M+ 8]15+[90 F &) 32.85
18.3= 113.28

X 8= (Int((430-5-5)/15)+1)1100= 29
FEGEE(E14)= 113.28*[% £]29/100= 32.85 M

#4 KERH(E14E) KT B (B 3)= 430+ H2]Int(430/(8*100))*48+[ 1 #-Ld] 21.50
—— O*[MRA]2*37+[BE B AT 4% B-Ld]37*0= 430.00
X #=5/100= 5 %

KT R (5 148)= 430.00* [ #]5/100= 21.50 M

#4 J EEM(E240) BEEREER)[H S, A STE80+ [+ 8]15+[90 E &) 32.85
18.3= 113.28

X #= Int((430-5-5)/15)+1)/100= 29
FE R (F24)= 113.28* [ £]29/100= 32.85 M

#4 KT/ (E248) KB (B )= 430+[#41]Int(430/(8*100))*48+[# 7 #4-Ld] 21.50
_— O*[RAf1])2*37+[ B8 E #iHE &+ #0-Ld]37*0= 430.00
X #=5/100=5 %

KM E (F248)= 430.00* [ #]5/100= 21.50 M

#5 T 1EfA:
JKFEHEEL: Int(430.00/60)= 7
FHEHEEL: Int(80.00/60)= 1
TEREE:((15-3*2)+10*2) K FHEE 7 [ EEHE]1=2.03 M
EARETE:
N
INER1: 3 B 5=(L)430.00%(H)80*1/10000=3.44 M2
LU E S EERR/NET: 3.44 M2
B/ E1:15*80%2/10000=0.24 M2
EH&;};: 3.68-[F9E54010.00-[ & FBA O $0]0.00+[FI 5 £4410.00+[ & F3 B O $14%]0.00-[{81 & 3 $#40]0.00=3.68 M2
RCEtE&E:
N
INER 1 B 15=(L)430.00%(H)80%(t)15/1000000=0.516 M3
LI EHEFERC/MET: 0.516 M3
RC/I\et: 0.516-[F9%5 B8 0 RC]0.000-[ & B A RC]0.000= 0.516 M3
-------------- FHEBERNG -
SR /NG (IKBA O Ee B0 RR %) (#5BA D EL451:0.0000)
#4=108.70 M*(1-0.0000)=108.70 M (108.70 M*0.994/1000= 0.1081 T)
#5=2.03 M*(1-0.0000)=2.03 M (2.03 M*1.560/1000= 0.0032 T)
ME/NEH(EER) = 011127
BAR/NEH(E )= 3.68 M2
iR /MET = 0.516 M3
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